Electric Drives Linear Motion and

Rexroth

and Controls Hydraulics Assembly Technologies Pneumatics Service
Bosch Group
Sandwich Iates RE 48052/01.11 1/92
p Replaces: 01.09

Type HSZ 10
Size 10
Component series 1X, 2X, 3X and 4X
Maximum operating pressure 315 bar
Table of contents
Contents Page
Features and safety instructions 2 Contents Page
Explanations of the type key for HSZ 10 sandwich plates 2,3  Functional group Flow control function
Advanced applications 4,5 — Complementary details 50
Dist lat — Throttle valves 51 to 53

l%_artme P al ets ithout port 6 Throttle check valves 54
- pistance piates without por - Flow control valves 55 to 57
— Distance plates with port 71010 . . . i
- Distance plates with connections 1110 13  Functional group Rapid motion - creep speed function
Functional Blocking functi — Complementary details 58, 59

unctional group Blocking function — Flow control cartridge valve:
— Complementary details 14t0 17

Check valves Z1S10 18

— Check valves M-SR, D.., VUCN / VURN 1910 25
— Check valves, pilot operated 26 to 28
— Blocking function, electrically switchable 2910 33

Functional group Pressure function
— Complementary details 34

— Pressure relief valves, direct operated 3510 38
— Pressure relief valves, direct operated,

electrically switchable 38
— Pressure reducing valves, direct operated 39
— Pressure reducing valves, pilot operated 40
— Pressure sequence valves 41

(pressure switch, see data sheet RE 50061)
Functional group Combination pressure and blocking function

— Complementary details 42,43
— Pressure feed function 44, 45
— Counterholding function 46, 47
— Lowering brake function 48, 49

Information on available spare parts:

www.boschrexroth.com/spc

Discharge control
» Seat valve normally closed, blocking on one side 60 to 62

« Seat valve normally closed, blocking on both sides 63

« Seat valve normally open, blocking on one side 64 to 66

* Seat valve normally open, blocking on both sides 67
— Flow control cartridge valve:

Supply control

* Seat valve normally closed, blocking on one side 68 to 71

« Seat valve normally closed, blocking on both sides 72

* Seat valve normally open, blocking on one side  731to 76

* Seat valve normally open, blocking on both sides 77

« Seat valve electrically switchable 78
— Differential circuit:

« Directional valve electrically switchable 78

Functional group Miscellaneous

- Complementary details 79, 80
— Short-circuit valves 8110 83
— Short-circuit valves with high flow 84, 85
- Proportional valves 86
— Clamping hydraulics 87, 88
— Shuttle valves 89
— Nozzles 90

R ring plates, seal kits 91



2/92 Bosch Rexroth AG | Hydraulics

Features

HSZ 10 | RE 48052/01.11

- Vertically stackable components in sandwich plate design
- Porting pattern according to ISO 4401-05-04-0-94
— Amendment to the existing sandwich plate program

— Structure as individual component or as horizontal stacking on
manifolds according to data sheet RE 48110 or vario plates

— Large variability due to the possibility of different combinations
as well as subsequent functional changes and extensions

Safety instructions

— Maximum operating pressure
 without valve function: 315 bar
* with valve function: Maximally 315 bar (depending on
the valve fitting)

— Weight indications contain the installed and/or attached valves
— Dimension L x W x H without installed and/or attached valves
— Coating: Galvanic coating DIN 50979 - Fe/Zn8/Cn/T0

— The valve mounted in the sandwich plates can block in
an undefined position due to internal pollution - like e.g.
polluted hydraulic fluid, wear debris or residual dirt from
system components. As a result, the driven actuator may
no longer be under the operator’s control.

— When using a single-rod cylinder, inadmissibly high pres-
sures may result in the discharge channel due to pressure
intensification (e.g. unswitched directional seat valve / uncon-
trolled solenoid coil / cable break). We therefore recommend
securing the cylinder by means of pressure relief valves.

Explanations of the type key for HSZ 10 sandwich plates

1 2 3 4 5 6
T T
HSZ 10 -/ ]
1 | |
Porting pattern: Form A10, direct operated =A
) Form A10, pilot operated (with X and Y port) =B
Serial number of the functional design from
001 ... 999 (is determined in the factory)
3
Series-production status: -1X, - 2X, - 3X, - 4X
1 Seal material: NBR seals = M (standard)
Note: FKM seals =V
Observe co.mpa.tibility of seals with (other seals upon request)
the hydraulic fluids used!
5
Line connection: No external connection =00
Connection according to DIN 3852 part 2 =01
Thread according to DIN EN ISO 228
(pipe thread)
* Further details in the plain text
3D view

) HSZ 10 A..., direct operated
2) HSZ 10 B..., pilot operated (with X and Y port)




RE 48052/01.11 | HSZ 10

Order examples:

Hydraulics | Bosch Rexroth AG 3/92

Material no. | Type designation
R900515226 | HSZ 10 B037-3X/M01 Sandwich plate without valve function
R900555875 | HSZ 10 A188-3X/05M00 Sandwich plate with fixed valve design
15 16
R900703933 | HSZ 10 A100-3X/ @ [S20] Mo0O Sandwich plate with optional valve design

Type key and order examples for fitted sandwich plates, see
relevant functional groups!

Sandwich plates with possible valve fitting are available as
both, complete device (with valves assembled) or as con-
struction kit plate (only with seals, plug screws, name plate).

 Other circuits and designs as specified in the data
sheet are only possible after consultation!

« Connection threads in HSZ plates are always covered
in a pressure-tight form.

- Installation bores / screw-in threads with unfitted
sandwich plates are usually not covered in a pressure-
tight form.

The following serial sandwich plates with porting pattern
according to ISO 4401 pilot operated (drilled for X and Y
port) are part of the delivery range:

Type Z1S10.-3X/V SO30  RE 21536
Type Z2S10..-3X/V SO30  RE 21553
Type M-Z4SE10.1X/C..S030

Type Z-DB10..-4X/.V SO30  RE 25761
Type ZDR10D..-5X/.Y.SO30 RE 26585
Type ZDR10V..-3X.Y.SO30 RE 26861
Type Z2FS10..-3X/.V SO30  RE 27518



4/92 Bosch Rexroth AG | Hydraulics HSZ 10 | RE 48052/01.11

Extended applications of HSZ 10 sandwich plates with R ring plate

HSZ 10 sandwich plates with R ring plates can be rotated by 180° around the TA - TB axis
Due to the changed installation position, a different function results (circuit diagram).
See the following examples.

In case of sandwich plates with only one T bore (TA or TB),
it has to be ensured that the connection to T is not inter-
rupted and still ensured.

Distance plates with port in the P, A, B, TA or TB channel

_>
Valve side Rotated by 1 80 ° Valve side
1
G 3/8
1Al Tp A B B 1Al [P A B B
Plate side Plate side
_>
Valve side Rotated by 180° Valve side
1
G 3/8
TAl [P AT B T8 TA [P A B T8
Plate side Plate side
_>
Valve side Rotated by 180° Valve side
1
G 3/8
TA [P A B B TA [P A B B

Plate side Plate side



RE 48052/01.11 | HSZ 10

Extended applications of HSZ 10 sandwich plates with R ring plate

Hydraulics | Bosch Rexroth AG

5/92

Check valve in the P, A, B, TA or TB channel

—_—
Rotated by 180°

Valve side Valve side
O
TAl |P A B TB TA| [P A B TB
Plate side Plate side
—
Valve side Rotated by 180° Valve side
O
TA P A B TB TA| P A B TB
Plate side Plate side
—
Valve side Rotated by 180° Valve side
O
TA P A B TB TA| P A B TB
Plate side Plate side
——-
Valve side ROtated by 1 80 ° Valve side
Oo—o o—O—c
TA P A B TB TA P A B TB
Plate side Plate side
_>
Valve side Rotated by 180° Valve side
’—0_" 0—()—0
TA P A B TB TA P A B TB
Plate side Plate side
_>
Valve side Rotated by 180° Valve side
‘_0—0 0—0
TA P A B TB TA P A B TB
Plate side Plate side



6/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Distance plates without port (1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 @ 91 x70x5.5 R900265368
plate A010-3X/M00 0.3 kg
with R ring l p Al @
plate R900320784
Sandwich HSZ 10 @ 91 x70x5.5 R900265930
plate A345-3X/M00 0.3 kg
with R ring 1Al P XT Al @8 Y8
plate R900564772
Sandwich HSZ 10 T @ T 90 x 70 x 11 R900262119
plate B003-3X/M00 |}| ||| 0.5 kg
. . | )
Wlth|R ring 1l p Xi Al @ YiTB . Thread M8 x 1
plate R900514665 in channel X and Y
Sandwich HSZ 10 @ 90 x 70 x 20 R900265369
plate B007-3X/M00 0.9 kg
1Al P| X Al @8 Y'TB
R900535658
Sandwich HSZ 10 0) 90 x 70 x 50 R900265212
plate B004-3X/M00 2.4 kg
1Al P| X Al @s Y'TB
R900534251
Sandwich HSZ 10 @ 90 x 70 x 100 R900265409
plate B339-3X/M00 4.5 kg
1Al P| X Al @8 Y!TB
R900536392
Sandwich HSZ 10 @ 170x 70 x 70 R901042543
plate A476-3X/M00 6.0 kg
R901041896 Tl p Al @ T8
Comment:
Hole pattern dis-
placed by 70 mm
in direction A
Sandwich HSZ 10 @ 110 x 70 x 50 R900267618
plate B029-3X/M00 2.8 kg
R900906208 1| p| x Al @s Y'TB
Comment:
Hole pattern dis-
placed by 14.5 mm
in direction B
Sandwich HSZ 10 TWPXXT A @D B YTE 91 x 70 x 20 R900265519
plate B073-3X/M00 | 0.9 kg
*-
@

R900370156




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 7/92

Distance plates with connections ((1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H |Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 @ 100 x 70 x 40 R900265392
plate B037-3X/MO1 || | 2.0 kg
= % SideE | SideF
R900515226 | [1A| P| X Al @8 Y!TB G-|1-/4 GF1’/4
Sandwich HSZ 10 @ 130 x 70 x 40 R900262973
plate A0GS-3X/MO1 |1 ] N 2.7 kg
5 g Side E | Side F
R900528297 | [TA P A @s 8 G:/z Gi/z
Sandwich HSZ 10 @ 130 x 70 x 40 R900265395
plate A054-3X/M01 = 2.7 kg
= =| | SideE | SideF
O O
R900536190 Tl-ﬂ— PT A @ B 18 o '1|'/:2 G F1’/2
Sandwich HSZ 10 @ 110 x 70 x 40 R900265393
plate A075-3X/M01 - - 2.0 kg
= | | SideE | SideF
R900536191 TAT p A @) B TBT 5 '1|'/2 5 '1|'/2
Sandwich HSZ 10 ® 130 x 70 x 40 R900265394
plate A027-3X/MO1 2.7 kg
g Side F
R900536244 | [1al F[ A @8 T8 GF1’/2
Sandwich HSZ 10 Pl l @ P1 120 x 70 x 100 R900279293
plate A429-3X/MO1 L = 6.1 kg
2 3l | SideE | SideF
R900967602 Jalp Ao a2 Fg ,3,/:42 pG1 ,3,/342
Sandwich HSZ 10 @ 110x 70 x 100 R900732204
plate A446-3X/M01 T 5.6 kg
S S | SideE | SideF
R900731748 | [1A| P A @8 18| GT1 G-|1—/4




8/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Distance plates with connections ((1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10- M [0) 105 x 70 x 50 R900240252
plate 34854-ZAMO1 |13 2.7 kg
© = Side E
M6 P Internal thread M6
R901173176 P Al @ T8 Tl || G1/4
Sandwich HSZ 10- [0) 94 x 70 x 30 R900240251
plate 34860-ZA/M0O1 S 1.5kg
‘T’ p|| SideE | SideF
=7 | AT P
R900975888 | [O[TAlP Al @ |8 18|O|| G1/4 | G1/4
Sandwich HSZ 10 [0) 130 x 70 x 40 R901176802
plate A040-3X/MO01 B 2.7 kg
N qf| Side E | Side F
© © A B
RO01176800 TAlP AT @ |8 | || G122 | G2
Sandwich HSZ 10 ® 100 x 70 x 30 R900255859
plate A058-1X/MO01 B 1.5kg
§ Side F
(C) B
R900413029 TA P Al @ [B 8 G3/8
Sandwich HSZ 10 0) 120 x 70 x 50 R900259802
plate A066-1X/M01 P p 3.0 kg
S S Side E | Side F
(G (G) P P
R900551041 TA[P Al @ B B G3/4 | G3/4
Sandwich HSZ 10 [0) 130 x 70 x 40 R900265843
plate B031-3X/M01 A B 2.6 kg
g qf| Side E | Side F
C) G} A B
RO00563477 TAlp Al @ |8 yog || G172 | G1/2




RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

Distance plates with connections (@ = component side, @ = plate side)

9/92

Device Type designation Symbol Platte L x W x H |Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 0 102 x 70 x 30 R900727135
plate A024-1X/MO1 15kg
0': Side E
= P
R900584633 TAlP @ |8 TB G3/8
Sandwich HSZ 10 0) 120 x 70 x 40 R900265391
plate B035-3X/MO1 25kg
= Sl | SideE | SideF
(U] (U]
R900536135 TA| P| X OF: T8 A B
G1/4 | G1/4
Sandwich HSZ 10 0) 130 x 70 x 40 R900265126
plate A031-3X/MO01 2.7 kg
= g Side E | Side F
R900532776 | [TA| P @8 T8 A B
G122 | G1/2
Sandwich HSZ 10 D 130 x 70 x 40 R900265127
plate A331-3X/M01 2.7 kg
N o | o :
S =| | SideE | Side F
R900532777 | |mAl P @ 8 A B
G122 | G12
Sandwich HSZ 10 D 130 x 70 x 40 R900265844
plate B065-3X/MO1 ; b 2.6 kg
I ~f | SideE | SideF
] © T P
R900563478 TAlP @ |8 TB G12 | G172
Sandwich HSZ 10 D 110 x 70 x 40 R900266335
plate B075-3X/MO1 . . 22 kg
~ ST | SideE | Side F
e} 1) T T
R900525564 Tralp @ |8 e[ || G12 | G2
Sandwich HSZ 10 n ]| 130x70x60 R900264833
plate B096-3X/MO1 S s 4.0kg
o @ 9l | SideE | Side F
6:0 <P AXT|BPY
R900550473 | |5 G| G4 | G
TAlP @ |8 T8[
Sandwich HSZ 10 0) 100 x 70 x 30 R900262648
plate B097-3X/MO01 . » 1.5 kg
S 5| | SideE | Side F
R900320785 1Al P OF: 18 X Y
G1/4 | G1/4




10/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Distance plates with connections ((1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H |Dimensional sheet
designation in mm
Weight More
Material no. Size of the ports information
Sandwich HSZ 10 ® v 110 x 70 x 40 R900265573
plate B305-3X/M01 p 2.2 kg
§ Side E
G} P
RO01279292 1Al PTX Al @ |8 v[rg || G1/4 RO00265572
Sandwich HSZ 10 X 0 110 x 70 x 40 R900265574
plate B307-3X/M01 ! Y 2.2 kg
- g Side F
o Y
R901279293 TA[PTX Al @ [B Y[TB G4 R900265572
Sandwich HSZ 10 XX ® 110 x 70 x 40 R900268822
plate B579-3X/M01 1 Y 2.2 kg
< S| SideE | SideF
o ol | X1 Y
R900912473 1Al PTX Al @ | yirgl || G4 | G4 o o00es572
Sandwich HSZ 10 X @ Y 110 x 70 x 40 R900270972
plate B583-3X/V01 1 2.2 kg
S 11| Side E | Side F
5 < X1 T
RO00927893 7AlPTX Al @ | YIgo | G4 | G4 | 0265572
Sandwich HSZ 10 XX 0 i 110 x 70 x 40 R901145488
plate B643-3X/MO01 P T 2.2 kg
S5 S| SideE | SideF
U] L ¥ P T
R901145480 TAlPTX Al @ B yirgl [| GV4 | G141 00068572
Sandwich HSZ 10 T @ T 110 x 70 x 40 R900717782
plate B443-3X/M01 y v 2.2kg
< Sf| SideE | SideF
o O X Y
RO00716990 TAlP {X Al @ |8 virg [| GV4 | G141 oo 265572
Sandwich HSZ 10 ® 118 x 70 x 40 R901088216
plate B487-3X/M01 y af’ 2.2kg
T 7| SideE | SideF
o O X Y
R901088182 TAlP X Al @ |8 yimg || G141 G4 po006s572
Sandwich HSZ 10 0 114 x 70 x 40 R901092648
plate B489-3X/MO01 X Y 2.2 kg
S “[f| SideE | Side F
e) () X Y
RO01092645 TAlP X Al @ | ¥rg || G4 | G148 po0o6s572
Sandwich HSZ 10 ® 110 x 70 x 40 R900267141
plate B578-3X/M01 y v 2.2kg
T <P| SideE | SideF
o O X Y
RO00903619 TAlP X Al @ [s vig || G4 | G141 pon0oess7e




RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

Distance plates with connections (@ = component side, @ = plate side)

11/92

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 @ 90 x70x 20 R900265465
plate A019-3X/M00 0.9 kg
with R ring
plate RO00537267 |[mal P A @8 T8
Sandwich HSZ 10 @ 90 x 70 x 30 R900265467
plate A071-3X/M00 = 1.4 kg
- Internal thread
R900537262 ||mal P A @p 18 M8 x 1 between
A and B channel
Sandwich HSZ 10 0) T 90 x 70 x 20 R900265463
plate A078-3X/M00 0.9 kg
R900537264  |[1al P A @s T8
Sandwich HSZ 10 0) 90 x 70 x 20 R900265468
plate A077-3X/M00 0.9 kg
with R ring
plate RO00537263 | [1Al P A @8 T8
Sandwich HSZ 10 @ 90 x 70 x 20 R900265464
plate A079-3X/M00 0.9 kg
with R ring
plate R900537265 | [l P A @8 T8
Sandwich HSZ 10 0] 90 x 70 x 60 R900265959
plate A061-3X/M00 2.8 kg
R900565057 | |1A| P Al @p 8
Sandwich HSZ 10 ® 90 x 70 x 60 R900270096
plate B061-3X/M00 2.7 kg
TAlP X A’ @\ YITB
R900922486
Sandwich HSZ 10 X @ Y 110 x 70 x 40 R900265518
plate B098-3X/M00 - 2.2kg
R900439123 1Al Pl TX Al @8 Y[iB R900265572
Sandwich HSZ 10 Important: The following valve set-up is 90 x 70 x 50 R900262149
plate A076-3X/M00 rotated by 180°! 2.5kg

R900515273

TB

Bl (DA

P[TA

TA|

Al @8

1B




12/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Distance plates with connections ((1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 @ 90 x70x 20 R900617187
plate A308-3X/V00 0.9 kg
with R ring
plate RO00616863 | [Tl P A @8 T8
Sandwich HSZ 10 (D 90x70x 20 R900738155
plate B529-3X/M00 0.9 kg
with R ring
plate R900738152  |[malp|x Al @8 Y!TB
Sandwich HSZ 10 @ 90x70x 20 R900271263
plate B333-3X/M00 0.9 kg
with R ring
plate RO00975306  |[1Al P A @s YITB
Sandwich HSZ 10 @ 105 x 70 x 50 R900756897
plate A055-3X/M00 - 2.7 kg
R900964317  |[mal [ Al @8 18]
Sandwich HSZ 10 ® 90x71.3x20 R901239953
plate A298-3X/M00 0.85 kg
T P
R901239582
TAlP Al @ T8
Sandwich HSZ 10 @ 90 x 70 x 20 R901001451
plate B079-3X/M00 0.9 kg
R900786689
TA Al @ YITB
Sandwich HSZ 10 ® 90x70x 20 R901023531
plate B482-3X/ » 0.9 kg
A0SB03MO0 Ma Nozzles 0.8 mm
— inA+B
R901066985 mn Al @ Y'TB
Sandwich HSZ 10 @ 90x71.3x20 R901239244
plate A074-3X/M00 0.87 kg
TAl P Al @8 18
R901238703
Sandwich HSZ 10 G1/8 @ 90 x 70 x 30 R901118257
plate A495-3X/M00 1.4 kg
TAl P A ® B TB—l_ PlUg screw G1/8 in

R901118212

channel A on the
valve side




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 13/92

Distance plates with connections and two connection diagrams and external port
((1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10- D P Al B Tg| 120x90x50 R901094008
plate 38003-ZA/MO1 & 3.9 kg
S 1x connection
MB,|  Side E/ A G1/2 diagram 10A
' Sl| Side F/BG1/2 1x connection
MAT| Side A/ AB G1/4 diagram 06A
R901284807 o
P A@IB T o
Sandwich HSZ 10- D AP TXTATE Y 150 x 120 x 90 R901146105
plate 38053-ZA/MO1 B 11.7 kg
(G} .
2x connection
G/l\/m MEQ Side E/ A G1 diagram 10B
Sl| Side F/BG1, in-
MAT | ternal thread G1/4,
R901145127 @ = MB G1/4
TA[P X |A_[B [YTTB Y| Side A/ MA, MB
G1/4
Sandwich HSZ 10- | D Al 145%140x 80 R900255919
plate 26534-Z/M01 11.7 kg
< < .
G G 1)? connection
VB Side E/ MA, MT diagram 10A
MP G1/4
S S| Side F/ MB, MP
R900548651 © b G1/4
TA[P2_ |A2 |B2 TB®@|1AlP1 A1l B1 TBM
Sandwich HSZ 10- ® |TA P A B 150 x 130 x 90 R900725942
plate 26832-ZA/M01 12.7 kg
2x connection
o <|| Side E/ MA3, MB3 |  diagram 10A
o 9 G1/4
Ag’ M‘B‘g Side C/ A3, B3
RO00725896 | S G1/2
O |1alp A B ® o




14/92  Bosch Rexroth AG | Hydraulics

Functional group Blocking function

HSZ 10 | RE 48052/01.11

Example: HSZ 10

1 2 12

A -3X/

Complementary details on sandwich plates with integrated blocking function (complete devices):

11
Cracking pressure at the 0 bar (without spring)
check valve type M-SR10 0.5 bar
(installation kit) 1 bar
1.8 bar
3.5 bar
5.5 bar
12
Cracking pressure at the 0.5 bar
check valve type D9.8...: 3.0 bar
check valve type D8...:
check valve tige D10...: 5.0 bar
12.1
Cracking pressure at the Cracking pressure 0.5 bar
check valve type Z1S6...: Cracking pressure 3.0 bar
(installation kit / sandwich plate) Cracking pressure 5.0 bar
13
Cracking pressure at the Cracking pressure 1.5 bar
oheck valve type Z2S6...: Cracking pressure 3.0 bar
(pilot operated) Cracking pressure 6.0 bar
Cracking pressure 10.0 bar
14
Seal material NBR seals
FKM seals
(other seals upon request)
A\ Attention!
Observe compatibility of seals with hydraulic fluid used!
26.1
Nominal voltage at the coil Direct voltage 12 V
Direct voltage 24 V
Direct voltage 26 V
Direct voltage 110 V
Direct voltage 220 V
35.1

Manual override
at directional seat valve series K...

without manual override
Concealed manual override
Screwable manual override

=00
=02
=05
=15
=30
=50

=05 BAR
=30 BAR
=50 BAR

=G12
=G24
= G26
= G110
= G220

=NO
= N9
= N11



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 15/92

Functional group Blocking function

3541 Manual override without manual override =1A
at directional seat valve series OD.15... =3A
=3l
Screwable manual override =3M
=3L
=3D
with manual override "pushing” =1B
=1L
with manual override "pushing", =1C
lockable in switched position =1M
352 Electrical types of connection:  03pol (2+PE) DIN EN 175301-803, =01  =K4?
without mating connector
02pol K40 DT 04-2PA Deutsch, =201 =K402
without mating connector
02pol C4/Z230 AMP Junior-Timer, =07" =C49

without mating connector
) Designation of the individual component solenoid coil
2) Designation of the complete device HSZ range

For the connection to AC voltage mains, a DC solenoid must be used, which is controlled via a rectifier.
In case of individual connection, a mating connector with integrated rectifier can be used (separate order).



16/92 Bosch Rexroth AG | Hydraulics

Functional group Blocking function

HSZ 10 | RE 48052/01.11

Complementary details on check valves:

31
M-SR . KE -1X/ (see page 19 - 21)
KE = Angle valve
31

00 = without spring

02 =0.2bar

05 =0.5bar

15 =1.5bar

30 =3.0bar

50 =5.0bar

31
RUECKSCHLAGVENTIL D 9.8- 1 Z1S10T (see page 19 and 20)
31

0.5 BAR
3.0 BAR
5.0 BAR

For numbers: 400, 401, 402, 408, 517, 519, 589 (see page 22 - 25)
31

VUCN- 08A- 04.31.20.00.56 000

Flow from 1 to 2

31
00 =1 bar 06 =6Dbar
03 =2.7bar 09 =9bar
05 =5bar 14 =14 bar
31

VURN- 08A- 04.31.27.00.56 000

31 Flow from 2 to 1
02 =2bar

For number: 490 (see page 22 and 23)
32

VUCN-12A- 04.31.28.00.57 000

Flow from 1 to 2

32
00 =1bar
05 =5bar
08 =8bar
15 =15bar

32
VURN-12A- 04.31.36.00.57 000

Flow from 2 to 1
32

02 =2bar




RE 48052/01.11 | HSZ 10

Functional group Blocking function

Hydraulics | Bosch Rexroth AG ~ 17/92

Complementary details on check valves:

Check valve type D9.8... installation kit (version "P" and "T"):

Version "P" (cracking pressure 0.5 bar)

Seal material Material no.
NBR R900543827
FKM R900543830

Check valve type D8.0...:

Version "T" (cracking pressure 0.5 bar)

Seal material Material no.
NBR R900543839
FKM R900543842

Version D8.0-.../HSZ 200 (cracking pressure 0.5 bar)

Seal material Material no.
NBR R900544619
FKM R900890139
Check valve type D10...:
Version D10-.../HSZ 187
Seal material Material no.
NBR R900544566
FKM R900869810




18/92

Check valves Z1S10 (@ = component side, @ = plate side)

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports information
Sandwich 121 X @ 91 x70x50 | RE 21536
plate Z1S 10 PC3-3X/V S01 | 2.5 kg
|
Amend type designation according to page 14. TAL P A @ B YiTB
Sandwich 12.1 T @ 91 x70x50 | RE 21536
plate Z1S 10 TC3-3X/V S0105 2.5kg
Amend type designation according to page 14. TP A @ B L
Sandwich 121 @ 91 x70x50 | RE 21536
plate Z1S 10 PC3-3X/V S068 3 ~ 2.5 kg
- -
u .
Side F
TA ? @s T8 b
Amend type designation according to page 14. G1/2
Sandwich 121 @ T 91 x70x50 | RE 21536
plate Z1S 10 FC=33-3X/V S068 3 2.5kg
o :
TA f @8 18] S'dF? F
Amend type designation according to page 14. G1/2
Sandwich 12.1 @ 91 x70x50 | RE 21536
plate Z1S 10 PC1-3X/V S0113 S = 2.5 kg
o < O | ,
TA f A @8 T8 S'd: E S'dBe F
Amend type designation according to page 14. G1/4 | G1/4
Sandwich 12.1 T @ 91 x70x50 | RE 21536
plate Z1S 10 TC33-3X/V S0114 2.5 kg
Amend type designation according to page 14. TATP| X Qs Y[TB




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 19/92
Check valves M-SR, D8, D9 and D10 ((1) = component side, (2) = plate side)
Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports information
Sandwich HSZ 10 A200-3X/05BARMO00 ® 90 x 70 x 40 | R900265094
.tﬁlgte, R900558636 2.0 kg
wi ring ) AME}
plate TAlP A @ T8
Fitting of the sandwich plate: 1
RUECKSCHLAGVENTIL D8-05BAR/O0HSZ200
Sandwich | HSZ 10 B200-3X/05BARMO00 0] 90 x 70 x 40 | R900266114
plate R900920897 2.0 kg
with R ring AVAVA@
plate
Fitting of the sandwich plate: 1 TAIP X Al @ s Y18
RUECKSCHLAGVENTIL D8-05BAR/O0HSZ200
Sandwich HSZ 10 B650-3X/05M01 X 0) v 130 x 70 x 60 | R901178322
plate R901178011 - ALAA < 4.0 kg
= 1A\ =l g i
Fitting of the sandwich plate: O | Xme meX Gl |SideE|Side ) 2x plug
. o TAP X A @ vig[ || X | Y | screwMs
Check valve (installation kit) G1/4 | G1/4
M-SR 15 KE05-1X/O
RE 20380
Sandwich HSZ 10 A244-3X/05M00 @ 150 x 70 x 60 | R900262329
plate R900941516 5.0 kg
Fitting of the sandwich plate: 7 VW>
Check valve (installation kit)
14 TA P Al @ B
M-SR 15 KE05-1X/0 RE 20380
Sandwich HSZ 10 B192-3X/05BARMO00 ® 90 x 70 x 40 | R900240603
plate R900976702 1.8 kg
with R ring
plate AvAvA b
Fitting of the sandwich plate: 1 Talp Ix Al @ viTB
RUECKSCHLAGVENTIL D8-05BAR/O0HSZ200
Sandwich | HSZ 10 A192-3X/05BARMO00 0] 90 x 70 x 40 | R900265093
plate R900908257 2.0 kg
with R ring | AM() |
plate TP A @8 T8
Fitting of the sandwich plate: 1
RUECKSCHLAGVENTIL D8-05BAR/CHSZ200
Sandwich | HSZ 10 A184-3X/05BARMO00 Q 0] 90 x 70 x 50 | R900266032
plate R900558725 > 2.4 kg
Fitting of the sandwich plate: " —"Wo—4
RUECKSCHLAGVENTIL D10-05BAR/C0HSZ187 | [TA| P| Al @ B TB

14
RUECKSCHLAGVENTIL D9.8-05BAR/O0Z1S10T




20/92 Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Check valves M-SR, D8, D9 and D10 (@ = component side, @ = plate side)

Device Type designation Symbol Platte L x W x H| Dimensional
designation in mm sheet
Weight
Size of More
Material no. the ports information
Sandwich HSZ 10 A592-3X/05M00 ﬁl)* 0) 140 x 71 x 90 | R900274704
plate R900944621 -4 6.5 kg
Fitting of the sandwich plate: .._AVAVA@H.
. L RE 20380
Check valve (|nstall1at|on kit) ralp O 8
M-SR 10 KE05-1X/O
Sandwich | HSZ 10 B187-3X/05BARMO00 0 Q 90 x 70 x 50 | R900265039
plate R901211312 AAAA + 2.4 kg
Fitting of the sandwich plate: 1 el x i A @8 virs
RUECKSCHLAGVENTIL D10-OSBAF{/1|:|4 HSZ187
RUECKSCHLAGVENTIL D9.8-05BAR/0Z1S10T
Sanld\;vich HSZ 10 A187-3X/05BARMO00 @ Q 90 x 70 x 50 | R900265058
plate R900555874 AL : = 2.4 kg
Fitting of the sandwich plate: 1 ol p A @8 -
RUECKSCHLAGVENTIL D10-05BAR/ EI4HSZ187
RUECKSCHLAGVENTIL D9.8-05BAR/O0Z1S10T
Sandwich |HSZ 10 B330-3X/05BAR- @ 90 x 70 x 50 | R900265848
plate DEMOO e = |Ive 2.4 kg
Fitting of the sandwich plate: » Lol Vv A @8 s tr::gzzin:/lls
RUECKSCHLAGVENTIL D10-05BAF!/1|:|4 HSZ187
RUECKgg:HLAGVENTIL D9.8-05BAR/OZ1S10T
DUESEOM6-DIN 906 (material no. see p. 90)
Sandwich HSZ 10 A468-3X/05M01 @ ~ 120 x 70 x 100 | R901010327
plate R901010126 " 5 6.0 kg
3 vvvf>—p‘°
Fitting of the sandwich plate: ZF Side F RE 20380
Check valve (installﬂion kit) TA[P Al @ 18 T8 G1/2
M-SR 10 KE05-1X/O
Sandwich HSZ 10 B188-3X/02M00 0) 190 x 70 x 50 | R901046526
plate R901046500 4.8 kg
Fitting of the.sandwrch plate: MA— §— AR RE 20380
Check valve (mstallﬂlon kit) TAlp Ix A B Y'TB
M-SR 10 KE05-1X/O
Sandwich HSZ 10 A188-3X/05M00 190 x 70 x 50 | R900265095
plate R900555875 4.9kg
Fitting of lhe.sandech plate: MA— $—AARS | RE 20380
Check valve (installation kit) TAlp Al @ |B B

14
M-SR 10 KEO05-1X/O




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG ~ 21/92
Check valves M-SR, D8, D9 and D10 (1) = component side, (2) = plate side)
Device Type designation Symbol Platte L x W x H| Dimensional
designation in mm sheet
Weight
Size of More
Material no. the ports information
Sandwich |HSZ 10 A338-3X/05M00 0) 140 x 70 x 50 | R900265416
, El;tg R900916704 3.5kg
with R ring QAAA 4
plate T P A @B T
Fitting of the sandwich plate:
Check valve (install;ation kit)
M-SR 10 KE05-1X/00 RE 20380
Sandwich |HSZ 10 B338-3X/M00 0) 140 x 70 x 40 | R900265449
plate R900536800 3.5kg
with R ring
plate C“ AL L
Fitting of the.sandwllch Plale: Talp Al @ | viTB
Check valve (installation kit)
M-SR 10 KE05-1X/00 RE 20380
Sandwich |HSZ 10 A552-3X/05M00 [0) 140 x 70 x 40 | R900265417
plate R900701086 3.5 kg
with R ring
plate | AMA © |
Fitting of the.sandwllch plale: alp @ s 18
Check valve (installation kit)
M-SR 10 KE05-1X/00 RE 20380
Sandwich HSZ 10 A186-3X/05V00 ® 100 x 70 x 50 | R901037041
plate R901036587 2.5kg
e
Fitting of the.sandwllch pllate: RE 20380
Check valve (|nstall1at|on kit) TAlP @ |8 T8
M-SR 10 KE05-1X/O
Sandwich HSZ 10 B436-3X/05M01 TIP @ B Y 120 x 70 x 80 | R901024630
plate R900564126 AAA mB 4.9 kg
AU < .
S Side F
MA, MB G1/4
X RE 2
Fitting of the sandwich plate: > X G3/8 0380
Check valve (installation kit) Y
14
M-SR 8 KE05-1X/0 A
©) ]
Sandwich HSZ 10 A577-3X/M01J12 ) 140 x 70 x 80 | R900267100
plate R900903267 11.0 kg
= "o —1<| Sice £ | Side F
2 ol A, XA | B, XB
’ ’ RE 20380
Fitting of the sandwich plate: A r@ G1/4 | G1/4
Check valve (install1ation kit) < s
M-SR 10 KE05-1X/O0 © [TAIP Al @ s TBl©

Order example

1 11 3 4
For complete device: HSZ 10[A] 188-3X/[05] [M]

Order example

12
For complete device: HSZ 10 B330-3X/[05BAR |-D

50 3



22/92  Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

VUCN / VURN... check valves (@ = component side, @ = plate side)

Plate L x Wx H| pimensional
Type designation Weight sheet
D_evicg Material no. Size of _ and more
designation Symbol the ports information
Sandwich plate HSZ 10 A408-4X/ [©) 105x 70 x50 | R901232101
D00-20RV36M00 2.6 kg
R901289554 Plug screw
M8x1
Fitting of the sandwich plate: I Al @ |8 18
Check valve 32 RE 90005-03
VURN-12A- 020431360057 02] 000
Sandwich plate HSZ 10 A408-4X/ [©) 105x 70 x50 | R901232101
D00-10RV28MO00 2.6 kg
R901289489 Plug screw
M8x1
Fitting of the sandwich plate: I Al @ |8 18
Check valve . RE 90005-03
VUCN-12A- 000431280057 000
Sandwich plate HSZ 10 A490-4X/ [©) 200 x 70 x 80 | R901234326
A-20RV36MO00 7.5kg
R901283120
Fitting of the sandwich plate:
Check valve 2 TA Al @ |s T8 RE 90005-03
VURN-12A- 020431360057 000
Sandwich plate HSZ 10 A490-4X/ [©) 200 x 70 x 80 | R901234326
A-10RV28MO00 7.5kg
R901283110
Fitting of the sandwich plate:
Check valve 32 TA Al @ |8 T8 RE 90005-03
VUCN-12A- 000431280057 [00]000
Sandwich plate HSZ 10 A490-4X/ ©) 200 x 70 x 80 | R901234326
B-20RV36M00 8.8 kg
R901283168
Fitting of the sandwich plate:
Check valve 32 TA Al @ s T8 RE 90005-03
VURN-12A- 020431360057 [02]000
Sandwich plate HSZ 10 A490-4X/ [©) 200 x 70 x 80 | R901234326
B-10RV28MO00 8.8 kg
R901283155
Fitting of the sandwich plate:
Check valve TA Al @ s T8 RE 90005-03

32
VUCN-12A- 000431280057 [00] 000




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 23/92
VUCN / VURN... check valves ((1) = component side, (2) = plate side)
Plate L x Wx H| pimensional
Type designation Weight sheet
Device Material no Size of and more
designation aterial no. Symbol the ports information
Sandwich plate HSZ 10 A490-4X/ [©) 200x 70 x 80 | R901234326
AB-20RV36M00 7.5 kg
R901283166
Fitting of the sandwich plate:
TAP Al @ [B TB
Check valve 2 RE 90005-03
VURN-12A- 020431360057 [02]000
Sandwich plate HSZ 10 A490-4X/ ® 200 x 70 x 80 | R901234326
AB-10RV28MO00 7.5kg
R901283131
Fitting of the sandwich plate: o)
Checkvalve 4 TAIP A B 18 RE 90005-03
VUCN-12A- 000431280057 [00] 000
Sandwich plate HSZ 10 A519-4X/ @ 105x 70 x50 | R901154552
20RV21-25M00 2.6 kg
R901283103 plozzie
Fitting of the sandwich plate: —=
P Al @ |8 T8
Check valve " TA RE 90005-03
VURN-08A- 020431210056 [02] 000
Sandwich plate HSZ 10 A519-4X/ ® 105x 70 x50 | R901154552
10RV20-25M00 2.6 kg
R901283097 g‘gznf'r‘;
Fitting of the sandwich plate: —=
Al @ |8
Check valve 5 TAIP T8 RE 90005-03
VUCN-08A- 000431200056 000
Sandwich plate HSZ 10 A589-4X/ [©) 105x70x 50 | R901155030
with Rring plate|  20Rv21-12M00 Wo—=—¢ 2.6 kg
RO01283162 1"'22;'2
Fitting of the sandwich plate:
A B B
Check valve 0 TAP @ RE 90005-03
VURN-08A- 020431210056 000 @
—=—OW—¢
Sandwich plate rotated by 180° AP Al @ |[B 8
Sandwich plate HSZ 10 A589-4X/ [©) 105x70x 50 | R901155030
with R ring plate 10RV20-12M00 OMN—=—4 2.6 kg
R901283158 1'\';2;'2
Fitting of the sandwich plate:
Check valve 5 TAP ALQO s 18 RE 90005-03
VUCN-08A- 000431200056 [00] 000 @ e
Sandwich plate rotated by 180° TA P Al @ s B




24/92  Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

VUCN / VURN... check valves (@ = component side, @ = plate side)

Plate Lx Wx H| pimensional
Type designation Weight sheet
D_evicg Material no. Size of _ and more
designation Symbol the ports information
Sandwich plate HSZ 10 A587-4X/ [©) 100 x 70 x 80 | R901028290
20RV21MO00 —WO 4.0 kg
R901283157 W |
Fitting of the sandwich plate: TP Al @ s 18
Check valve 32 RE 90005-03
VURN-08A- 020431210056 000
Sandwich plate HSZ 10 A587-4X/ [©) 100x 70 x 80 | R901028290
10RV20M00 ——OW 4.0 kg
R901283156
Fitting of the sandwich plate: P A [ @ s 18
Check valve RE 90005-03
VUCN-08A- 000431200056 000
Sandwich plate HSZ 10 A517-4X/ @ 105x70x 50 | R901154552
20RV21MO00 2.8 kg
R901283093 +HMO-=—¢ Internal thread
M8x1
Fitting of the sandwich plate: TA/P A @ 18
Check valve 32 RE 90005-03
VURN-08A- 020431210056 000
Sandwich plate HSZ 10 A517-4X/ @ 120 x 70 x 50 | R901153919
10RV20M00 3.0 kg
R901283092 +-OM-= Internal thread
M8x1
Fitting of the sandwich plate: TA/P A @ 8
Check valve RE 90005-03

32
VUCN-08A- 020431200056 [00] 000




RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

VUCN / VURN... check valves (@ = component side, @ = plate side)

25/92

Type designation

Device

. . Material no.
designation

Symbol

Plate Lx W x H
Weight

Dimensional
sheet

Size of
the ports

and more
information

HSZ 10 A667-4X/
20RV36M00

Sandwich plate
with R ring plate

R901283170
Fitting of the sandwich plate:

Check valve a1
VURN-12A- 020431360057 [02] 000

TA[P

\'A'A'lc>_< 9

TB

140 x 70 x 60
2.6 kg

R901282203

RE 90005-03

HSZ 10 A667-4X/
10RV28MO00

Sandwich plate
with R ring plate

R901283169
Fitting of the sandwich plate:

Check valve .
VUCN-12A- 000431280057 [00] 000

TAIP

TB

140 x 70 x 60
2.6 kg

R901282203

RE 90005-03

HSZ 10 A668-4X/
20RV36M00

Sandwich plate
with R ring plate

R901283174
Fitting of the sandwich plate:

Check valve .
VURN-12A- 020431360057 [02] 000

TAIP

TB

140 x 70 x 60
2.6 kg

R901282212

RE 90005-03

HSZ 10 A668-4X/
10RV28MO00

Sandwich plate
with R ring plate

R901283172
Fitting of the sandwich plate:
Check valve »
VUCN-12A- 000431280057 000

TAIP

TB

140 x 70 x 60
2.6 kg

R901282212

RE 90005-03

HSZ 10 A648-3X/
DV-10RV20MO00

Sandwich plate

R901283230
Fitting of the sandwich plate:
Check valve

31
VUCN-08A- 000431200056 [00] 000

TAl P

OF:

T8[

120 x 70 x 80
5.2 kg

R901164210

RE 90005-03

HSZ 10 A648-3X/
DV-20RV21MO00

Sandwich plate

R901283237
Fitting of the sandwich plate:
Check valve

31
VURN-08A- 020431210056 [02] 000

O L—

TA| P

OF

T8[

120 x 70 x 80
5.2 kg

R901164210

RE 90005-03




26/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Check valves, pilot operated ((1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
. Size of More
Material no. the ports information
Sandwich HSZ 10- ® 245 x 87 x 150 R901179168
plate 38083-AA/HMO1 XA Maxt 16.6 kg
Internal thread
X o ; M8x1
< Y Attention!
R901177093 = XB MBx1 S8 Special width
O —_— Y1 \NI/8x1 S
X; A x 1A
. . /N
Bﬂ Bﬂ YY M8x1
BTY B | JY
_ f— RE 21468
meix Al @ s YT
Sandwich HSZ 10- @ 245 x 87 x 150 R901242942
plate 38083-BA/HMO1 XA Maxt 16.6 kg
X oMt Internal thread
= = Y Attention! M8x1
R901241879 = XB Mgx1 5 Special width
(G) N/ YT M8x1 ]
xi[A 7N x! A )
Bﬂ kﬂ YY M8x1
BTY By
meix Al @ s YT RE 21468
Sandwich HSZ 10 A645-3X/ @ 168 x 70 x 130 R901161570
late VSON-10MO01
p ’_@_3 _____ NB 9.9 kg
1 2 P
3
3
R901160546 ok i
RE 90005-03
TAlP Al @ |8 8]
Sandwich HSZ 10 A463-3X/ @ 250 x 70 x 90 R901005500
plate ERVE-S315- 11.4 kg
280MO01 -
X 3 PN T
< 2
R901004076 © 1 X
s RE 25402
TAl P A @ |8 18|O
Sandwich HSZ 10 A467-3X/ @ 180 x 70 x 80 R901008435
plate ERVE-MO1 B|, 7.3 kg
S 2
R901007427 | [O|F;
TA[P Al @ |8 B
Sandwich HSZ 10 A488-3X/ @ 280 x 71 x 160 R901091623
plate ERVE-S315- 7.3 kg
280MO1 o
X[ x|, =
< (3] |2 <\r
5 @ £ 35
R901091588 7 1 M RE 25402
TAl P A @ |B TB[




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG ~ 27/92

Check valves, pilot operated (1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H| Dimensional
designation in mm sheet
Weight
Size of More
Material no. the ports information
Sandwich 13 14 @ 163 x69.5x50 | RE 21553
plate Z2510-O1-3X/O 3.4 kg
P
Amend type designation according to page 14. TALP A ®|§F| 18
Sandwich 13 14 0] 163 x 69.5 x50 | RE 21553
plate Z2S10 AO-3X/O 3.4 kg
Amend type designation according to page 14. TALP Al @ 18
Sandwich 13 14 0] 163 x69.5 x50 | RE 21553
plate Z2510BO-3X/O 3.4kg

1Al P A ®§F| T8

Amend type designation according to page 14.




28/92  Bosch Rexroth AG | Hydraulics

Check valves, pilot operated ((1) = component side, (2) = plate side)

HSZ 10 | RE 48052/01.11

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports information
Sandwich 13 14 @ 163 x 69.5 x 50| RE 21553
plate Z2S 10 A @3 -3X/ =3 S040 3.4 kg
< .
= Side F
G
@ X
Amend type designation according to page 14. TALP A B 18 G 1/4
Sandwich 13 14 [0) 163 x 69.5 x 50| RE 21553
plate Z2S 10 B =3 -3X/ =31 S040 X 3.4 kg
3 Side E
v X
Amend type designation according to page 14. TP Al @s L G 1/4
Sandwich 13 14 [0) 163 x 69.5 x 50| RE 21553
plate Z2S 10 A3 -3X/ =1 S060 , 3.4 kg
: ______
i
Amend type designation according to page 14. TALP A @ B 18
Sandwich 13 14 [0) 163 x 69.5 x 50| RE 21553
plate Z2S 10 B @3 -3X/ =3 S060 ' 3.4 kg
----- |
_i
Amend type designation according to page 14. TAIP Al @s 18
Sandwich 13 14 @ 163 x 69.5 x 50| RE 21553
plate Z2S 10 A3 -3X/ 1 S064 3.4 kg
Amend type designation according to page 14. TAIPIX E%(D B L
Sandwich 13 14 ® 163 x 69.5 x 50| RE 21553
plate Z2S 10 B @3 -3X/ 1 S064 3.4 kg
Amend type designation according to page 14. TALPL X Al @ L
Sandwich 50 @ 260 x 70 x 80 | R900709357
plate HSZ 10 A527-3X/ERVE-D O N . 10.7 k
——————— Diise B -/ K9
MO0 _—
Diise A| r——==—-|
Fitting of the sandwich plate:
™ P Al @s T8 RN115.06

Check valve, FL-ERVE-R1-13X

pilot operated

50
DUESE 1 M6-DIN 906
Material no. see p. 90




RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

29/92

Blocking function, electrically switchable, normally open (1) = component side, (2) = plate side)

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
inmm
Weight
. Size of More
Material no. the ports | information
Sandwich % o) 152 x 70 x 80 | R901071319
plate M-Z4SEH 10 E1- 2X/3C I K4 = 6.8 kg
i¥§l& o9
a | 00 ZI \ |b
1A A @8 YITB RE 18136-21
Sandwich % o) 152 x 70 x 80 | R901071319
plate M-Z4SEH 10 A-2X/3C 03 K4 - 6.8 kg
a © 4\]b
I I
TA A’_‘® B YITB RE 18136-21
Sandwich 2 o) 152 x 70 x 80 | R901071319
plate M-Z4SEH 10 B-2X/3C 03I K4 =~ 6.8 kg
e}
a’\N@A‘ o 4\1b
| I
1A A|_®\—B‘ YITB RE 18136-21
Sandwich % o) 152 x 70 x 80 | R901071319
plate | M-Z4SEH 10 E-2X/3C I ETK4 6.8kg
I .
W e
a\Wy ok | b
1A A’_‘®\—B‘ YITB RE 18136-21
Sandwich 2 o) 152 x 70 x 80 | R901071319
plate M-Z4SEH 10 E-2X/3C O TK4 6.8 k
xSl o
a’\N\gA‘ s 4\b
TA A’_‘®\—B‘ YiTB RE 18136-21
Sandwich 26 o) 152 x 70 x 80 | R901071319
plate M-Z4SEH 10 E-2X/3C [ EK4 6.8 kg
ST '
a’\N@A‘ 00 4\1b
! ’_1 \_‘ ——
1A Al @8 YITB RE 18136-21
Sandwich % ® 152 x 70 x 80 | R901071319
plate M-Z4SEH 10 E-2X/3C O K4 6.8kg
I .
W e
a\Wy Lo el | b
1A A’_‘®\—B‘ YITB RE 18136-21




30/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Blocking function, electrically switchable (@ = component side, @ = plate side)

Plate LxWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/AB-A05[ | |[ |M00 200x70x80 | R901234326
Fitting of the sandwich plate: 0) [ 7.64 kg Valve on side
I‘l—l EandF
35.1 _—
SITZVENTIL 0OD.15.05.89. [ ]S0.000 /> 2+ VW 1 RE 90005-03
35.2 26.1 Lo
SPULE 0D.02.17._]30.[__].000 |J VAR W
TA[P Al @ B 1B
26.1 35.1 35.2
ich plate HSZ 10A 490-4X/A-A M
Sandwich plate HSZ 10A 490-4X/A-A05[_][_][_IMo0o0 200x70x80 | R901234326
Fitting of the sandwich plate: ® 7.64 kg Valve on
L| side E
35.1 1
SITZVENTIL 0D.15.05.89. [ ]S0.000 W_ﬂut E + m RE 90005-03
y
35.2 26.1 |2—|
PULE 0D.02.17. L
SPULE OD.0 [ ]30.[_].000 ralp A Q@ [ -
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/B-A05[ | ][ |M00 200 x 70 x 80 R901234326
Fitting of the sandwich plate: 10) I 7.64 kg Valve on
side F
35.1 -
SITZVENTIL 0OD.15.05.89. [ |S0.000 1 RE 90005-03
35.2 26.1 O
SPULE 0D.02.17.[__30.[_].000 [/>] v 5 W
TA[P Al @ [B 18
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/AB-A06 MO0
P - 200 x 70 x 80 R901234326
Fitting of the sandwich plate: L ® I 7.64 kg Valve on side
1 EandF
35.1 -
SITZVENTIL 0OD.15.05.89. [ |S0.000 /> + MW\ 1 RE 90005-03
s Sk
35.2 26.1
SPULE 0D.02.17.[ _ |30.[ __].000 |7 5 W
TAlP Al @ [B 18
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/A-A06[ | | |M00 200 x 70 x 80 R901234326
Fitting of the sandwich plate: C @ 7.64 kg Valve on
351 1 side E
SITZVENTIL OD.15.05.89. [ |S0.000 + 1 "RE 90005-03
352  26.1 VA 2‘ VW
SPULE 0D.02.17.[ _]30.[_].000
TAlP AC @ |8 T8

Qv max S€at valve = 150 I/min

Order example for complete device with two seat valves nor-

mally closed, blocking on one side:

26
HSZ 10A 490-4X/ AB-A05[__|K4MOO

Effect}/e in channel A and B



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 31/92

Blocking function, electrically switchable (@ = component side, @ = plate side)

PlateLx WxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/B-A06[__|[__|[__|Mo00 200x70x80 | R901234326
Fitting of the sandwich plate: ® L 7.64 kg Valve on
side F
35.1 1
SITZVENTIL OD.15.05.89. [ |S0.000 + } RE 90005-03
0 R
SPULE 0D.02.17. 30. .000
TAP A @ s T8
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/AB-B05[ _|[ ][ |Mo00 200 x 70 x 80 R901234326
Fitting of the sandwich plate: ® [ 7.64 kg Valve on side
|1_| Eand F
vasRIDdTY "RE 90005-03.
SITZVENTIL OD.15.05.89. [__]S0.000 5 : 10
352 261 /P>l y oMW
SPULE 0D.02.17.[__]30.[ _].000 2
TA[P Al @ [B B
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/A-A05 [ 11 Imoo 200 x 70 x 80 R901234326
Fitting of the sandwich plate: C @ 7.64 kg Valve on
side E
SITZVENTIL OD.15.05.89. S0.000 RE 90005-03
1 | o WA
35.2 26.1 P
SPULE 0D.02.17. 30. .000
[ Jso.[] TAlP AL @ |8 B
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/B-B05 (11 _Imoo 200 x 70 x 80 R901234326
Fitting of the sandwich plate: ® L 7.64 kg Valve on
side F
35.1 ‘ 1 R
SITZVENTIL 0OD.15.05.89. [ |S0.000 © RE 90005-03
| / F 1 | ©
35.2 26.1 2 W
SPULE 0D.02.17. 30. .000
[ 0[] TA[P A @ B B
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/AB-B06[__|[_][__]M00 200 x70x 80 | R901234326
Fitting of the sandwich plate: L @ I 7.64 kg Valve on side
5 1 Eand F
35.1 -
SITZVENTIL OD.15.05.89. [ ]S0.000 [/l - W - RE 90005-03
35.2 26.1 ploe [ v MW
SPULE 0D.02.17.[__]30.[ _].000 2
TA[P Al @ [B 8
26
Order example HSZ 10A 490-4X/ A —B05[ __|K4MO0O

For complete device with one seat valve normally closed, \
blocking on both sides: Effective in channel A



32/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Blocking function, electrically switchable (@ = component side, @ = plate side)

Plate LxWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ’ Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/A-B06 [ 11 Imoo 200 x 70 x 80 R901234326
Fitting of the sandwich plate: C @ 7.64 kg Valve on
side E
] 5T RE 2000505
SITZVENTIL OD.15.05.89. S0.000 RE 90005-03
/>le ]y M
%30 EI 000 2
SPULE 0D.02.17. . .
TAlP AL @ |8 B
26.1 35.1 35.2
Sandwich plate HSZ 10A 490-4X/B-B06[__|[__|[__|M00 200 x 70 x 80 RO01234326
Fitting of the sandwich plate: ® L 7.64 kg Valve on
side F
35.1 & 1 -
SITZVENTIL OD.15.05.89. S0.000 RE 90005-03
] va324RATH
35.2 26.1 2
SPULE 0D.02.17.[ _|30.[].000 Al A @ [ 1B

Qy max S€at valve = 150 I/min



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 33/92

Blocking function, electrically switchable (@ = component side, @ = plate side)

Plate L x WxH | pimensional
Type designation Weight sheet
Device . Size of and more
designation Material no. Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10A 408-4X/D00-A05[ _|[|[__|mo00 170 x 70 x 80 R901039207
Fitting of the sandwich plat:::1 | 1 | ) ‘ 7.3 kg V:ilgjl: lc__m
SITZVENTIL OD.15.05.89. [ ]S0.000 l X Plug screw
a0 - 2
SPULE 0D.02.17.[_]30.[ ].000
TAlP Al @ [B L RE 90005-03
26.1 35.1 35.2
Sandwich plate HSZ 10A 408-4X/D00-A06 [ |[ [ _|mo00 170 x 70 x 80 R901039207
Fitting of the sandwich plate: | | @) ‘ 7.3 kg V:iz: lc__m
35.1 1
SITZVENTIL OD.15.05.89. [ ]S0.000 75 + '\N\:>< Plug screw
/
35.2 26.1 2 M8x1
SPULE 0D.02.17.[__ ]30.[ ].000 . A|P AlTB 18 E o0005.08
26.1 35.1 35.2
Sandwich plate HSZ 10B 408-4X/D00-A05[ |[ [ |mo00 170 x 70 x 80 R901217086
Fitting of the sandwich plate: i | [©O) ‘ 7.3 kg V:ilc\j/ee Ic__m
35.1 1
SITZVENTIL OD.15.05.89. [ |S0.000 ) ) Plug screw
VAR M M8x1
35.2 26.1 2 |
SPULE 0D.02.17.[__|30.[ _].000
TA| P| X Al @ [s Y [TB RE 90005-03
26.1 35.1 35.2
Sandwich plate HSZ 10B 408-4X/D00-A06 ][ ][ |M00 170 x 70 x 80 R901217086
Fitting of the sandwich plate: i | [©) ‘ 7.3 kg VSaiI(\j/: lgn
35.1
1
SITZVENTIL OD.15.05.89. [__]S0.000 - X Plug screw
352 2641 /» + r WA M8x1
SPULE 0D.02.17._]30.[ ].000 2
TA[P| X Al @ [B Y[TB RE 90005-03
26.1 35.1 35.2
Sandwich plate HSZ 10B 670-4X/LKHC-ZD-KSC[__|[_[[__|mo00 454 x 70 x 80 R901287658
@ 16.7 kg Internal thread
i “”6
EJ— . .
,—_: sl = Double plug in
i E° | XP and YT
r ® ] N
! | i | RE 18136-21
13 - i o)
SHHH: & %
cany S |
TAIP IX Al @ B Yi [1B

9y max S€at valve = 150 I/min



34/92  Bosch Rexroth AG | Hydraulics

Functional group Pressure function

HSZ 10 | RE 48052/01.11

Example: HSZ 10

1 2

15 16 3 4

-3X/

Complementary details on sandwich plates with integrated pressure function (complete devices):

14

Seal material
Important:

Observe compatibility of seals with
hydraulic fluid used!

15

Adjustment element at the pres-
sure relief valve type DBD..10...:

16

Setting pressure at the pressure
relief valve type DBD..10...:

Note:
Spelling () with complete type!

37

Adjustment element at the pres-
sure sequence valve

Pressure reducing valve

38

Setting pressure at the pressure
relief valve type DR 10 K...:

Note:
Spelling () with complete type!

18

Setting pressure at the valve type
ZDR10V...:

19

Setting pressure at the valve type
ZDR10D...,ZDZ10D...:

NBR seals
FKM seals

(other seals upon request)

Setscrew with hexagon and

protective cap
Rotary knob

Lockable rotary knob

up to 25 bar
up to 50 bar
up to 100 bar
up to 200 bar
up to 315 bar

Type ZDZ 10 D..

Type ZDR 10 D..
Type ZDR 10 V..

Type DR 10 K..

= no code
=V
=S
- 1
=H? ) Please observe the
=A" installation dimensions!
= 25 (025)
=50 (050)
=100
=200 aa :< ~
=315 22|e?
S8lcd
N N N
Rotary knob =1 |=4
Bushing with hexagon and protective cap =2 |=5
Lockable rotary knob with scale =3 =6
Spindle with internal hexagon and scale  — -
Rotary knob with scale =7 |=7

Secondary pressure

up to 50 bar

up to 100 bar
up to 200 bar
up to 315 bar

up to 50 bar

up to 100 bar
up to 200 bar
up to 315 bar

up to 25 bar 2
up to 75 bar @
up to 150 bar
up to 210 bar

= 50 (050)
=100
=200
=315

=50

=100
=200
=315

=25
=75
=150
=210

2) Not with version
SO129!



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 35/92
Pressure relief valves, direct operated (1) = component side, (2) = plate side)
Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
Sandwich plate 15 16 — [0) 170 x 70 x 50 | R900262854
with Rring | HSZ 10 A100-3X/ 1 M00 o 4.5 kg
plate JEAN
Fitting of the sandwich plate:
Pressure relief §~_‘ RE 25402
valve, direct | DBD 310 K1X/ L 3 o DBD on
’ TA| P A B 1B side E
operated
Sandwich plate 15 16 — 0] 170 x 70 x 50 | R900262855
with Rring | HSZ 10 B100-3X/ == M00 L ! 4.5 kg
plate A |—>
Fitting of the sandwich plate:
g P 4—§ _‘ RE 25402
X DBD on
Pressure relief 15 16 14 TA|P{X A|_‘® B side E
valve, direct DBD 10 K1X/ g
operated
Sandwich plate| 15 16 _ ® 170 x 70 x 50 | R900262857
with Rring | HSZ 10 A106-3X/ 1 M00 P 4.3 kg
plate ’
Fitting of the sandwich plate:
Pressure relief ‘% RE 25402
valve, direct DBD 110 K1X/ (33 ) DBD on
’ TA| P A B B side E
operated
Sandwich plate 15 16 0 170 x 70 x 50 | R900241588
with Rring | HSZ 10 B106-3X/ 1 M00 3 4.3 kg
plate <—| s
Fitting of the sandwich plate: % RE 25402
@ DBD on
Pressure relief 5 6 14 TAIP X A 18 side E
valve, direct DBD 10 K1X/O
operated
Sandwich plate 15 16 [0) 170 x 70 x 50 | R900262856
with Rring | HSZ 10 A107-3X/ 3 MOO o 4.3 kg
plate >
Fitting of the sandwich plate: = RE 25402
Pressure relief 15 16 14 DBD on
valve, direct DBD 10 K1X/ g TA| P A @ B T8 side F
operated
Sandwich plate 15 16 0] — 170 x 70 x 50 | R900262869
with Rring | HSZ 10 B107-3X/ 1 M00 ro 4.3 kg
plate A |—>
Fitting of the sandwich plate:
g P 4—§ RE 25402
DBD on
Pressure relief 15 16 14 TA[PiX A @ 8 side F
valve, direct DBD D10 KIX/ O3
operated
15 3 4
Order example: For complete device with one pressure relief valve: HSZ 10 A100-3X/ [(M][00]



36/92 Bosc

h Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Pressure relief valves, direct operated (@ = component side, @ = plate side)

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
Sandwich 15 16 0) 170 x 70 x 70 | R900262852
plate HSZ 10 A102-3X/ MO0 1 6.1 kg
with R ring P
plate N
Fitting of the sandwich plate: RE 25402
P lief §* DBD on
ressure relie 15 1614 |[TAlP A @8 18 side F
valve, direct DBD 10 K1X/ O
operated
Sandwich 15 16 0) 170 x 70 x 70 | R900262853
plate HSZ 10 B102-3X/ 0 M0O | 6.5 kg
with R ring
plate [“I
Fitting of the sandwich plate: AN RE 25402
% DBD on
. TA[PIX Al @ | YITB side F
Pressure relief 15 16 14
valve, direct DBD 10 K1X/ g
operated
Sandwich 15 16 @ 170 x 70 x 70 | R900265627
plate HSZ 10 A118-3X/ I M0O ' 5.7 kg
with R ring L]
plate 4
Fitting of the sandwich plate: RE 25402
P lief DBD on
ressure reiie 15 16 14 TAl P A @8 T8 side E
valve, direct DBD O 10 K1X/ OO
operated
Sandwich 15 16 0) T 1| 170 x 70 x 70 | R900262884
plate HSZ 10 A117-3X/ 1 MO01 T 6.0 kg
Fitting of the sandwich plate: L’F_'I % Side F
Pressure relief .5 16 14 ’V'#\ B T
valve, direct DBD 110 K1X/ O G 1/4 Rg;;i?
operated TAI_P A @ 8] side E
Sandwich ) 220 x 70 x 70 | R900245033
plate HSZ 10 24833-AA/HMO1 ' 8.2 kg
with R ring R900560418 L]
plate 4
Fitting of the sandwich plate: = RE 25402
DBD on
Tl P A @s T8 side E and F
Pressure relief
valve, direct DBDS 10 K1X/25
operated
Order example 5 16 3 4
For complete device with one pressure relief valve: HSZ 10 A102-3X/ (M]



RE 48052/01.11 | HSZ 10

Pressure relief valves, direct operated (@ = component side, @ = plate side)

Hydraulics | Bosch Rexroth AG 37/92

Device Type designation Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
; 15 16 2 70 x 70 | R900262812
Sandwich | HSZ 10 A105-3X/A L] 508X8 (|2 x70 | R9002628
plate -B CICI MO0 = = =
L ]
Fitting of the sandwich plate: % ,w
Pressure relief
RE 25402
valve, direct 15 16 14
’ DBD 10 K1X/ OO DBD on
operated AP A s T8 side E and F
; 15 16 2 70 x 70 | R900271
Sandwich | HSZ 10 B105-3X/A ] @ 508"8 i x70 | R900271893
plate -B CICI MO0 — — oK
| 4 I I \T
Fitting of the sandwich plate: ’% B 7 w
RE 25402
Pressure relief l |
: 15 16 14 DBD on
valve, direct DBD 10 K1X/ OO TA[PiX Al @ |s YiTB side Eand F
operated
; 15 16 220 x 7 R900262
Sandwich | HSZ 10 A108-3XA 1] 0] 08"9 i x 80 | R900262880
plate -B 1 MO0 I,”_’u Ir-\J i
L L]
Fitting of the sandwich plate: ’\‘m N‘V
. | RE 25402
PFZISS:FS.:ELI? 15 16 14 DBD on
valv | .
’ side Eand F
operated DBD 10 K1X/ OO ml p A @p -
- 15 16
Sandwich |HSZ 10 B108-3X/A :45516 0) 2208x97i x 80 | R900268669
plate -B I M0O 1 = o
TH- L
Fitting of the sandwich plate: ’\‘m "W
| RE 25402
Pressure relief l
. 15 16 14 DBD on
valve, direct DBD 10 KIX/ OO TA[PiX Al @ |s YITB side Eand F
operated

Order example 5 16 5 16 3 4
For complete device with two pressure relief valves: HSZ 10 A105-3X/A [S] - B[S][315][M][00]



38/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Pressure relief valves, direct operated (@ = component side, @ = plate side)

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
HSZ 10-38008-AA/HMO1 170 x 70 x 80 | R901195298
Sandwich plate O] M X o
R901098088 S 6.8 kg
1 o
Fitting of the sandwich plate: W\ 1
Pressure relief RE 25402
valve, direct DBDS 10 K1X/50 @ DBD on
operated AP A B 18 side F
- 15 16
Sandwich plate| HSZ 10 A124-3X/ L L2 MOO 0) 197 x 70 x 90 | R900271893
6.0 kg
Fitting of the sandwich plate: ’Vyﬂ\ _T
7
Pressure relief N B RE 25402
valve, dt"ZCt DBDS 6 K1X/2... S
operate A P A @8 18/

Pressure reli

ef valves, direct operated, electrically switchable (1) = component side, (2) = plate side)

Plate L xWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
26.1 35.1 35.2
Sandwich plate| HSZ 10A 493-3X/03-05-A06 [ |[ [ _|mo1 120 x 70 x 90 R901116019
Fitting of the sandwich plate: I @ | 5.2 kg
SITZVENTIL OD.15.05.18... %y
-
Pressure relief valve 04.11.49... G i P%
= 1(B)
® ¢
Y
2(A) RE 90005-03
P A @y T8
26.1 35.1 35.2
Sandwich plate| HSZ 10A 493-3X/03-05-A05[ _|[ |[ |Mo1 120 x 70 x 90 R901116019
Fitting of the sandwich plate: [ 0) [ 5.2 kg
SITZVENTIL 0D.15.05.18... Tl
Pressure relief valve 04.11.49... G I__|P
= 1(B)
O oS
2(A) RE 90005-03
TAl P A @s 8




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 39/92
Pressure reducing valves, direct operated (@ = component side, @ = plate side)
Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
inmm
Weight
Size of More
Material no. the ports | information
i 37 19
Sandwich | ;50 10 DA 35X/ 1 YMS0129 1 ® 104 x69 x50
plate 1 | . 2.8 kg
1 |
| |
i
£
M Installation di-
o) mensions see
Amend type designation according to page 30. | TALP A B 18 RE 26585
Sandwich 37 19 @ 91 x 69 x 50
plate | ZDR 10 DB CI-5X/ ] YMS033 3.2kg
-1 )
Q@
T 4 } /1o VWA
.____/\d;\ 7 1
| Installation di-
| mensions see
Amend type designation according to page 30. TAIP A @ 18 RE 26585
Sandwich 37 19 @ 91 x 69 x 50
plate | ZDR 10 DP CI-5X/ ] YMS033 3.2kg
51 )
: Q@
| } ! WARS W\
.____/\92;\ 7 | 1
| Installation di-
| mensions see
Amend type designation according to page 30. TA| P Al Qs II: RE 26585
i 37 19
Sandwich | ;0 10 DB 35X/ 1 YMS0138 ® 91 x69x50
plate 1 3.2kg
1
Q@
T } /] o W\
.---J\“A* 7 1
| Installation di-
| mensions see
Amend type designation according to page 30. TAl P A @ 18 RE 26585
i 37 19
Sandwich | ;50 10 pp 5%/ £ YMS0138 0) 91 x69x50
plate | 3.2kg
1
\ Q@
, %} ! /] 16 W
| 1
| Installation di-
‘ mensions see
TAl P Al @8 18 RE 26585

Amend type designation according to page 30.

For more versions see RE 26585



40/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Pressure reducing valves, pilot operated (@ = component side, @ = plate side)

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports information
i 37 18
Sandwich | ;0 10 vP S1-3x/ T3 YMSO107 ©0) 104 x69x 50
plate " 2.3 kg
H ! 0
, -
A E
il
¢ Installation di-
Amend type designation according to page 34. mensions see
1Al P| X A @s Y'TB RE 26861
. 140 x 70 x 80 | R900265979
37 38
Sandwich |57 10 AS50-3%/ CO-23 Mo1 || ®© 57k
plate It .7 kg
Fitting of the sandwich plate: P ’W\‘ %} i
Pressure re- Y : ]
ducing valve 87 38 14 ! Side E
’ DR10KO-3X/ O YM O N iae
pilot operated o P,Y
T P A @8 | || G1/4
Amend type designation according to page 34. RE 26850
Sandwich |  HSZ 10 Ad41-3x/ osmo1 |1 @ 1401"57; : 220 R900706722
plate P °r9 Comment:
R900705578 O lateral hole
Lo . . pattern for
Fitting of the sandwich plate: A 3DRE...10P-
Check valve y v 7X/...
(installation kit) =
M-SR 10 KE...1X/... Gl |Side E
et RE 29286
TAl P Al @8 B[ || g1/ RE 20380




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG ~ 41/92
Pressure sequence valves ((1) = component side, (2) = plate side)
Device Type designation Symbol Platte Dimensional
designa- LxWxH sheet
tion in mm
Weight
Size of More
Material no. the ports | information
Sandwich 37 19 0) 91 x 69 x 50 | R900258415
plate ZDZ10DP O -5X/CYM 3.2kg
1
) Installa-
tion dimen-
Amend type designation according to page 34. A Qs B sions see
RE 26585
Sandwich a7 19 10) 91 x 69 x 50 | R900257429
plate ZDZ10DC O -5X/TOYM y—‘ 3.2kg
1
) Installa-
tion dimen-
Amend type designation according to page 34. Al @s 8 sions see
RE 26585
i 37 19
Sandwich 7DZ 10 DP 4 -5X/ L3 YMSO131 |_ 0) 91 x 69 x 50 | R900262838
plate 3.2kg
W Installa-
tion dimen-
Amend type designation according to page 34. Al @s Y\T8 sions see
RE 26585
i 37 19 77
Sandwich 7DZ 10 DA 5 -5X/ L3 YM Al [ B1 TB1 91 x 69 x 50 | R900267758
plate [ 3.2kg
1 Installa-
\—‘ tion dimen-
A2 B2 182 sions see

Amend type designation according to page 34.

RE 26585




42/92  Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Functional group Combination pressure and blocking function

1 2

Example lowering brake function: HSZ 10 -3X/L

39 45 3 4

Complementary details on sandwich plates with integrated pressure and blocking function (complete devices):

15
Adjustment element at the pres-  Setscrew with hexagon and
sure relief valve type DBD..10...: protective cap
Rotary knob
Lockable rotary knob
16
Setting pressure at the pressure  up to 25 bar
relief valve type DBD..10...: up to 50 bar
up to 100 bar
Note: up to 200 bar
Spelling () with complete type! up to 315 bar
12

Cracking pressure at the check
valve type D9.8...:

without spring
0.2 bar
0.5 bar
1.5 bar
3.0 bar
5.0 bar

Installation kit (version "P" and "T"):

=S

) Please observe the
installation dimensions!

= 25 (025)
= 50 (050)
=100
= 200
=315

I H " " 1
i Version "P" (cracking pressure 0.5 bar) Version "T" (cracking pressure 0.5 bar)
Seal material Material no. Seal material Material no.
NBR R900543827 NBR R900543839
FKM R900543830 FKM R900543842
14 Seal material NBR seals = nho code
Important: FKM seals =
Observe compatibility of seals (other seals upon request)
with hydraulic fluid used!
11
Cracking pressure at the check Cracking pressure 1.0 bar =05

valve type M-SR10...:
(installation kit)




RE 48052/01.11 | HSZ 10

Functional group Combination pressure and blocking function

Hydraulics | Bosch Rexroth AG

43/92

44

39

45

Control open ratio at the lower-
ing brake valve

More control open ratios on request!

Setting range

Control open ratio

Control open ratio 4.5 : 1 =G
(standard) for systems with vari-

able load conditions and structure-
related fluctuations

Control open ratio 10 : 1 =H
for systems with relatively constant load

70 to 175 bar (setting 140) =K
140 to 350 bar (setting 210) =J
1:1 =1
3:1 =3
45:1 =4
5:1 =5

10:1 =10



44/92  Bosch Rexroth AG | Hydraulics HSZ 10 | RE 48052/01.11

Pressure feed function (@ = component side, @ = plate side)

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 0) = 359 x 70 x 100 R900279039
plate A421-3X/02- \JT BTl 11.4 kg
AS315-BS315M01 B Mems
ATl ‘—l e AAO—
WAl
R900966328 o = AE 20402
& O
TAlP Al @ |8 T8 RE 20380
) @ 250 x 70 x 100| R900262954
Sandwich |HSZ 10 A214-3X/A |:| |:| 13.2 kg
plate BOL Mo1 +OMM+ +AAO
Fitting of the sandwich plate: RE 25402
Pressure relief i W‘/\, &/ A DBD on
valve, direct DBD 3 10 K1X/ L3 oo S I R I R side E and F
& &)
operated n = | Side E|Side F
Check valve T P Al @ T8 A | B | RE20380
(installation kit) M-SR 10 KE05-1X/ L G1/4|G1/4
) @ 250 x 70 x 100| R900262955
Sandwich |HSZ 10 B214-3X/A |:| |:| 13.2 kg
plate B0 LI Mo1 +OMM RO
Fitting of the sandwich plate: RE 25402
Pressure relief . W\, Jw 4 DBD on
valve, direct DBD |1:5| 10 K1X/ g |1:4| § I’ - § side E and F
operated - < . .
A B[ |Side E|Side F
Check valve " Tl P|X Al DB Y!TB A | B | REZ20380
(installation kit) M-SR 10 KE05-1X/ O G1/4| G1/4
15 16 [©) 250 x 70 x 100 R900262956
Sandwich |HSZ 10 B207-3X/A 1
15 16 AMAA, 13.2 kg
plate -B 1 MO1 VW
Fitting of the sandwich plate: = N‘v S
=4 74
Pressure relief 5 16 14 W\ - RE 25402
valve, direct DBD I 10 KIX/ OO O - | | DBD on
operated ; OMY Side E side E and F
Check valve T T
(installation kit 14 |’ G1/2 RE 20380
M-SR 10 KE05-1X/ O mlpl x Al @ YiTB
Order example 16

3 4
For complete device: HSZ 10 A214-3X/A |§| @l BEl [315][M]

Secured channel



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 45/92

Pressure feed function (@ = component side, @ = plate side)

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
. 180 x 70 x 100| R900262745
Sandwich 15 16 ©)
plate HSZ 10 A222-3X/ 1 1 MO01 9.4 kg
Fitting of the sandwich plate: RE 25402
b of w’\’ B DBD on
ressure reli i side E
valve, direct | ppp1okix @D | [g] | - E
operated O A , .
A | |Side E|Side F| e 50350
Check valve " TA P Al @s T8 A | B
(installation kit) M-SR 10 KE05-1X/ I G1/4|G1/4
Order example 15 16 3 4

For complete device: HSZ 10 A222-3X/[S][200][M]

Pressure feed function with accumulator connection M42x1.5 (1) = component side, (2) = plate side)

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports information
Sandwich HSZ 10-26640-AA/02 oL in] 230 x 70 x 230] R900270748
plate R900924793 DTS S I | AL
=
Fitting of the sandwich plate:
g P M Prd RE 25402
Pressure relief .5 16 14 - DBD on
valve, direct DBD O 10K1X/ O O 5 N [ side E
operated L] r %
T
y | Side E|Side F
Check valve 14 OO TA | TA
) Valve M-SR 15 KE02-1X/ RE 20380
(installation kit) G 1/4 | M42x
1AL P Al @ T8 15




46/92  Bosch Rexroth AG | Hydraulics

Counterholding function (@ = component side, @ = plate side)

HSZ 10 | RE 48052/01.11

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports information
15 16
Sandwich plate| HSZ 10 A217-3X/A 1 ® 250 x 70 x 80 | R900262923
with R ring B L2 Mot | | 11.4 kg
plate WA/\’Q Sl
Fitting of the sandwich plate: < | TE F F R E
G L g— G
n B RE 25402
Pressure relief TA[ P Al @B 18 . . _DBDon
ve. direct 15 16 14 Side E|Side F| side Eand F
valve, DBD I 10 K1X/ O A B
operated G1/4|G1/4
12 14
RUECKSCHLAGVENTIL D9.8-C1 /O Z1S10P
Sandwich plate| HSZ 10 B217-3X/A |:| |:| @) 250 x70 x 80| R900259743
with R ring B |:| IZI Mo1 [ 11.4 kg
plate W’\,S; ﬁ; JW
Fitting of the sandwich plate: < | 5 T T e
G - ~= -—
. ® = RE 25402
Pressure relief TP X A B YiTB . . , DBD on
ve. direct 15 16 14 Side E|Side F| side E and F
valve, DBD I 10 KIX/OI O A B
operated G1/4|G1/4
12 14
RUECKSCHLAGVENTIL D9.8- /3 Z1S10P
15 16
Sandwich plate] HSZ 10 A216-3X/ ] .1 MO1 @ 170 x 70 x 80 | R900262921
with R ring 1 7.7kg
plate Q
Fitting of the sandwich plate: <« | TE w;\’ F
Pressure relief 5 P 1 i I RE 25402
valve, direct DBD OO 10 K1X/ O A ® Side E DBD on
operated TA P A B 8 A side E
12 14 G1/4
RUECKSCHLAGVENTIL D9.8- /31 Z1S10P
15 16
Sandwich plate], HSZ 10 B216-3X/ 11 M01 @ 170 x 70 x 80 | R900262922
with R ring ( 7.7kg
plate %ﬁ;
Fitting of the sandwich plate: < e I
Pressure relief 5 16 14 o Side E RE 25402
valve, direct DBD 110 K1X/ OO O A alpx A @ B v IAe DBD on
operated side F
12 14 G 1/4
RUECKSCHLAGVENTIL D9.8- 1 /1 Z1S10P
Order example 15 16 3 4
For complete device: HSZ 10 @216 3X/[S][050] [M][01]
Order example 3 4

For complete device: HSZ 10 A217- 3X/A|§| - B@ - (M]

Secured channel



RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

Counterholding function (@ = component side, @ = plate side)

47/92

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
Sandwich |HSZ 10-34857-AA/HMO1 = @ 280 x 70 x 130| R900240254
plate = | 18.8 kg
Fitting of the sandwich plate: < J
b N
& -
. RE 25402
P lief
\r/(;lsvs:rceﬁrrgéte 15 16 14 TA[PiX Al @ |s Y8 Side F| RE 20380
’ ted DBD 20 K1X/ g MA. MP
operate ’
G1/4
RUECKSCHLAGVENTIL M-SR 20 KE05-1X/
15 16
Sandwich | HSZ 10 A218-3X/C] I MO1 ® 170 x 70 x 80 | R900262925
plate -—l 7.7 kg
Fitting of the sandwich plate: S; ] w\’
T <
o
Pressure relief B ) RE 25402
valve, direct DBD |1:5| 10 K1X/ £||1:4| TA[ P A @ B 18 SIdBe F DBD on
operated G 1/4 side F
12 14
RUECKSCHLAGVENTIL D9.8- 0 /=33 Z1S10P
15 16
Sandwich HSZ 10 B218-3X/ 30 =1 M01 @ ] 170x 70 x 80 | R900262926
Fitting of the sandwich plate: :% ] W\’
- i-_-'/ <\r
o
Pressure relief B . RE 25402
. P
valve, direct DBD |1:5| 10 K1X/ 2,.‘:“, TP X Al @ [s YiTB Sld; F DBD on
operated G 1/4 side F
12 14
RUECKSCHLAGVENTIL D9.8- @3 /=3 Z1S10P

Counterholding function with feed-in from channel B to P (@ = component side, @ = plate side)

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports information
15 16
Sandwich | HSZ 10 B219-2X/ I I M0O o) — 155 x 70 X80 | R900268146
plate ! "J. 6.8 kg
agr . //
Fitting of the sandwich plate: <—|
Pressure relief s o 1 QL =~
valve, direct DBD I 10 K1X/ OO T
operated
mrixix1 Al @ [ YiTB

12 14
RUECKSCHLAGVENTIL D9.8- /= Z1S10P




48/92  Bosch Rexroth AG | Hydraulics HSZ 10 | RE 48052/01.11

Lowering brake function (1) = component side, (2) = plate side)

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
. 170 x 70 x 70 | R900702921
Sandwich 39 45 [©0)
plate HSZ 10 A430-1X/L I M0O | 6.2 kg
1
| x Al
o
i___B_ Valve on
Fitting of the sandwich plat&: 5 P _A| ) B T side E
SENKBREMSVENTIL CBEO-LCON
. 170 x 70 x 70 | R900239724
39 45
Saglda‘::(:h HSZ 10 A431-1X/L O =3 MO0 ® \_ 6.2 kg
o
1
i X A i
oy
i___B Valve on
Fitting of the sandwich platﬁ: 29 P A @ BI_ Tl side F
SENKBREMSVENTILCBEO-LON
Order example 45 3 4
For complete device with one lowering brake valve: HSZ 10@ 430-1X/L |K||I| M]
. 39 45
Sandwich |HSZ 10 A426-1X/AL%||4:5| 0) 1706x37ﬁ x 70 | R900278364
plate -BL 11 M0O i — =
1 1 4
| X Al ] | x Al
o o T
1~ 1~
F f th dwich ol L_B L_B Valve on
itting of the sandwich plate: side Eand F
4 39
SENKBREMSVENTIL CBEO-LON TA P _| O TB[
Order example 39 45 39 45 3 4

For complete device with two lowering brake valves: HSZ 10 @426 1X/AL[J][4]-BL[J][4][M]

Secured channel

Preload of the check valve = 2 bar
Not suitable when using a proportional directional valve and
differential circuits (please contact us!)

Hydraulic backpressures add 1:1 to the response pressure
set at the adjustment as the spring chamber of the lowering
brake valve is connected to the port (discharge side) of the
valve side.

For more technical information refer to:
Mounting cavity R/T-2A; R901029931

Amend type designation according to page 12



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 49/92
Lowering brake function ((1) = component side, (2) = plate side)
Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
39 45
Sandwich | HSZ 10 B661-1X/AL LI L] 200;37(; x 90 | 901256982
plate -BL CICI M0O 9
Valve on
Fitting of the sandwich plate: side Eand F

44 39
SENKBREMSVENTILCWE O -LCON

TA P

Preload of the check valve = 2 bar

Suitable when using a proportional directional valve; however,
the hydraulic backpressures add in port T 1:1 to the response

pressure set at the adjustment.

For more technical information refer to:
Mounting cavity R/T-22A; R901054082



50/92 Bosch Rexroth AG | Hydraulics HSZ 10 | RE 48052/01.11

Functional group Flow control function

1 2 20 17 21 22 3 4
Example: HSZ 10 " -3X/'M

Complementary details on sandwich plates with flow control function (complete devices):

17

Adjustment element at the Lockable rotary knob with scale =3

2-way flow control valve Rotary knob with scale =7

type 2FRM 6...:

20

2-way flow control valve with closing of the pressure compensator =A

type 2FRM 6...: (suppression of the start-up jump)
without closing of the pressure compensator =B

21

Flow (progressive) at the 2-way up to 0.2 I/min =0.2Q (Q00.2)

flow control valve up to 0.6 /min =0.6Q (Q00.6)

type 2FRM 6...: )
up to 1.5 I/min =1.5Q (Q01.5)

Note: .

Spelling () with complete type! ~ UP 10 3.0 /min =3Q (Q03.0)
up to 6.0 I/min =6Q (Q06.0)
up to 10.0 I/min =10Q (Q10.0)
up to 16.0 I/min =16Q (Q16.0)
up to 25.0 I/min =25Q (Q25.0)
up to 32.0 I/min =32Q (Q32.0)

22

Flow control valve with check valve =R

without check valve =M

Important: Flow control also possible with proportional flow control valve according to data sheet RE 29188



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 51/92
Throttle valves (1) = component side, (2) = plate side)
Plate L x W x H | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ’ Symbol the ports information
Sandwich plate HSZ 10-A658-3X/ ® 140x 70 x50 | R901195410
A45TA45TB45M00 3.1 kg
R901195404 )] ) || Thread Girs
TA P Al @ |8 B
52 52 52 52
Sandwich plate |HSZ 10A 085-3X/A [_|B[_|P[_|T[_|M00 90x70x10 | R900262120
Fitting of the sandwich plate: @ 0.5kg
52 RN 115.06
DUESE[ ] R1/8-DIN906 O o Y| Thread G
available in all
Material no. see page 90 TA /P Al @ |8 T8 channels
Order example 52 52 2 3
For complete device with nozzle in channel B and P: HSZ 10A 085-3X/ g\lﬁl/g [20[M[00]
Fitted channel
Plate L x W x H | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ’ Symbol the ports information
Sandwich plate Z1FG 10 A5-3X/V @ 153 x 70 x 50 R900265547
with R ring plate
R900566445 W 2.5kg
RE 27488
TAl P Al @ 8
Sandwich plate| Z1FG 10 B5-3X/V ® 153 x 70 x 50 R900265547
with R ring plate
R900538832 )‘( 2.5kg
RE 27488
TAl P Al @8 8
Sandwich plate Z1FG 10-5-3X/V ® 153 x 70 x 50 R900265547
with R ring plate
R900987000 W )‘( 2.5kg
RE 27488
Tl P Al @ 8
Sandwich plate Z1FG 10 P5-3X/V @ 153 x 70 x 50 R900265547
with R ring plate
R901162976 )( 2.5kg
RE 27488
TAL P Al @ B




52/92  Bosch Rexroth AG | Hydraulics

Throttle valves (@ = component side, @ = plate side)

HSZ 10 | RE 48052/01.11

Plate Lx WxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ' Symbol the ports information
Sandwich plate| HSZ 10-A408-4X/ I ©) 105x 70 x50 | R901232101
D00-DV04M00 1 T 26kg
R901282503 X7 X Plug screw
2 M8x1
TAlP Al @ |s TB RE 90005-03
Sandwich plate HSZ 10-A408-4X/ | @ 105x70x 50 | R901232101
D00-DV03M00 1 T 26kg
R901282491 X x Plug screw
2 M8x1
TAlp Al @ |B T8
RE 90005-03
Sandwich plate|  HSZ 10-A490-4X/ ) 200x 70 x 80 | R901234326
A-DV04M00 1 T 75kg
R901282519 X
’ RE 90005-03
AP Al @ |B T8
Sandwich plate| HSZ 10-A490-4X/ 0) 200x 70 x 80 | R901234326
A-DVO03MO00 75Ky
. .
R901282513 pl'ed
’ RE 90005-03
AP Al @ |B T8
Sandwich plate| HSZ 10-A490-4X/ ) 200x 70 x 80 | R901234326
B-DV04MO00 1 T 88kyg
R901282549 X
2
RE 90005-03
AP Al @ |B T8
Sandwich plate| HSZ 10-A490-4X/ 0) 200x 70 x 80 | R901234326
B-DV03MO00 1 " 88kg
R901282546 pled
2
RE 90005-03
AP Al @ |B T8
Sandwich plate|  HSZ 10-A490-4X/ ) 200x 70 x 80 | R901234326
AB-DV04MO00 T 7oka
1 1 -9 Kg
R901282540 X X
2 2
RE 90005-03
AP Al @ |B T8
Sandwich plate| HSZ 10-A490-4X/ ) 200x 70 x 80 | R901234326
AB-DV03MO00 T 79kg
1 1 .
R901282523 'l o
2
’ RE 90005-03
AP Al @ |B T8




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 53/92
Throttle valves ((1) = component side, (2) = plate side)
Plate Lx W x H | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ’ Symbol the ports information
Sandwich plate| HSZ 10-A519-4X/ ©) 105x 70 x50 | R901154552
DVO3MO00 1 2.6 kg Internal
R901232719 X thread M8x1
M8x1 2
—
Al P Al @ |8 B RE 90005-03
Sandwich plate| HSZ 10-A519-4X/ ©) 105x 70 x50 | R901154552
DV04Mo0 1 2.6 kg Internal
R901235249 X thread M8x1
M8x1 2
*—
A P Al @ |8 T8 RE 90005-03
Sandwich plate| HSZ 10-A589-4X/ Q) 105x 70 x50 | R901155030
DVO3MO00 2.6 kg Internal
R901282555 1 %, thread M8x1
TAP Al @ [B TB) RE 90005-03
Sandwich plate| HSZ 10-A589-4X/ ® 105x70 x50 | R901155030
DV04MO00 2.6 kg Internal
R901155058 1542 M8a | thread M8x1
TA/P Al @ [B 1B RE 90005-03
Sandwich plate| HSZ 10-A587-4X/ Q) 100X 70 x 80 | R901028290
DV04M00 1 ’;4 2 " 40kg
R901282512 e
ié RE 90005-03
TAP Al @ |B TB)
Sandwich plate| HSZ 10-A587-4X/ ) 100 x 70 x 80 | R901028290
R901282509 1 zf
}é RE 90005-03
TA/P Al @ |8 TB
Sandwich plate| HSZ 10-A517-4X/ Q) 105x 70 x50 | R901154552
DVO3MO00 2.6 kg Internal
R901263448 142 M8 thread M8x1
AP @) B RE 90005-03
Sandwich plate| HSZ 10-A517-4X/ ©) 120x 70 x50 | R901153919
DV04MO00 3.0kg Internal
R901263449 .17{2&:‘4 thread M8x1
TAlP @ B RE 90005-03




54/92  Bosch Rexroth AG | Hydraulics HSZ 10 | RE 48052/01.11

Throttle check valves (@ = component side, @ = plate side)

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 @ [zulaufarosselung in A 155 x 70 x 80 R900278390
plate A425-3X/M00 6.4 kg
with R ring 1
plate ; 3:(\
R901252668 3 Qmax 95 I/min
TAl P A @8 T8
@ Ablaufdrosselung in B
2
b S
L
1
1Al P A @Ds 8
Sandwich HSZ 10 @ 220 x 70 x 80 R901268320
plate A453-3X/ANCFB- Zulauf 6.4 kg
with Rring | LC-BNCFB-LCMO00 1 1
plate ; 3:(\ ) ( ;
2 2 Qmax 95 I/min
R901266602 Tl p Al @) B] 18
Ablauf @
2 2
1 1
1Al P A @] 8




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 55/92
Flow control valves ((1) = component side, (2) = plate side)
Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
Sandwich |HSZ 10 A174-3X/ @ 120 x 70 x 70 | R900265412
lat 20 17 21 22
with ;?ing MEEE5= Moo EA’ S210
plate >§
Fitting of the sandwich plate: | PAB
2-way flow w17 22 |MAP A @8 18 RE 28163
control valve | 2FRM 6 O@36-3X/ O3V
(Valve mounting screws are part of the sandwich plate)
Sandwich |HSZ 10 A176-3X/ @ 120 x 70 x 70 | R900265410
late 20 17 21 22
wit'r: Rring M EEm Moo A' >219
plate {%{\s
Fitting of the sandwich plate: PA B
2-way flow w17 22 |MAP A @s 8 RE 28163
control valve | 2FRM 6 O 6-3X/ O3V
(Valve mounting screws are part of the sandwich plate)
Sandwich |HSZ 10 A154-3X/AM Supply control 120 x 70 x 70 | R900265414
plate 17 21 22 17 21 22 6.1 k
with R ring JJ-BM 311 MO0 Al | @ | n g
plate 4
OF e
Fitting of the sandwich plate: B B RE 28163
TAlP A @8 T8
2-way flow 17 21 22 -
control valve | 2FRM 6 B 6-3X/ O3V Discharge control
O,
B B
L
o P
L
A A
TAlP A @g| T8
(Valve mounting screws are part of the sandwich plate)
Sandwich |HSZ 10 A175-3X/M 0) 120 x 70 x 70 | R900265413
plate 17 21 22 MO0 4.1 kg
with R ring H0s B
plate {
=2
Fitting of the sandwich plate: A’
2-way flow 1Al P A @s 8 RE 28163

control valve

17 21 22
2FRM 6 B 6-3X/OOV

(Valve mounting screws are part of the sandwich plate)




56/92

Bosch Rexroth AG | Hydraulics

Flow control valves ((1) = component side, (2) = plate side)

HSZ 10 | RE 48052/01.11

Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
Sandwich |HSZ 10 A177-3X/M ® 120 x 70 x 70 | R900265411
plate 17 21 22 Moo 5.2 kg
with R ring D0 B
plate 9
§> <
Fitting of the sandwich plate: n
2-way flow o s (P @8 I: RE 28163
control valve 2FRM 6 B 1 6-3X/ O3V
(Valve mounting screws are part of the sandwich plate)
i 17 21
Sandwich HSZ 10 A150-3X/M Ca 2 Moo ® 120 x 70 x 70 | R900266266
plate B 4.3 kg
Fitting of the sandwich plate: A
A&
R 17 21
2-way flow 2FRM 6 B L4 6-3X/ o MV A RE 28163
control valve
TAl P @8 TB
(Valve mounting screws are part of the sandwich plate)
i 17 21
Sandwich HSZ 10 B150-3X/M La 1 M0O T @ 120 x 70 x 70 | R900266267
plate B 4.3 kg
Fitting of the sandwich plate: /
&
R 17 21
2-way flow 2FRM 6 B 4 6-3X/ 0 MV A RE 28163
controlvalve | = 70 © T — T T 0 ) —
1Al P[ X! A @ Y!TB
(Valve mounting screws are part of the sandwich plate)
i 17 21
Sandwich HSZ 10 A348-3X/M La = Mo1 @ l N 120 x 70 x 90 | R900266123
plate A ‘ = 5.3 kg
Fitting of the sandwich plate: @K\ o
o
2-way flow 17 21 = RE 28163
control valve 2FRM 6 B 1 6-3X/ O MV - B ul.;;
P x @3 T8
(Valve mounting screws are part of the sandwich plate)
Order example 1 o1 s 4
For complete device with 2-way flow control valve: HSZ 10 A150-3X/M El [Q03.0][M]
Order example 2 o1 2 3
For complete device with 2-way flow control valve: HSZ 10 A174-3X/M El |§| [Q03.0|[M][M]
Order example 3 2122 3 4
For complete device with 2-way flow control valve: HSZ 10 A154-3X/A M |§| m @ -B M[3][Q03.0[R][M][00]

Controlled channel



RE 48052/01.11 | HSZ 10

Flow control valves ((1) = component side, (2) = plate side)

Hydraulics | Bosch Rexroth AG

57/92

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 (@ |rulaufdrosselung in A 155 x 70 x 80 R900278390
plate A425-3X/FDEA- 6.4 kg
with R ring LAN-MO00 1
plate ; j&
2 Qmax 95 I/min
R900963779 A — A @3 T8
@ Ablaufdrosselung in B
2
bS;
L
1
TA A @ T8
Sandwich HSZ 10 ® 220 x 70 x 80 R901268320
plate A453-3X/AFDEA- Zulauf 6.4 kg
with R ring | LA-BFDEA-LAMOO 1 1
plate ; \):(\ ) (/ ;
2 2 Qmax 95 I/min
R901277089 mn Al @) B] 18
Ablauf 0
2 2

TA

SX

1

A @] 18




58/92  Bosch Rexroth AG | Hydraulics HSZ 10 | RE 48052/01.11

Functional group Rapid motion - creep speed function, normally open and closed

1 2 41 21.2 42 43 3 4
Example: HSZ 10| A - 3X/ - G24K4

Complementary details on sandwich plates with rapid motion - creep speed function

212 Maximum flow up to 6.0 I/min = 6Q (06)
(A — B) at the 2-w§1y flow control valve up to 32.0 I/min = 32Q (32)
type 2FRM 6 (cartridge valve):

Note:
Spelling () with complete type!

26.1
Nominal voltage at the coil Direct voltage 12 V =G12

Direct voltage 24 V =G24
Direct voltage 26 V = G26
Direct voltage 110 V =G110
Direct voltage 220 V = G220
a2 Blocking function at the Blocking on one side =A
2/2-directional seat valve: Blocking on both sides =B
43 Spool position at the Normally closed =05
2/2-directional seat valve: Normally open =06
il Flow control creep speed: with nozzle =D*
with throttle =FGM
with flow controller cartridge = FRM

351 Manual override at without manual override =1A

directional seat valve series OD.15... =3A
=3l
Screwable manual override =3M
=3L
=3D
with manual override "pushing” =1B
=1L
with manual override "pushing", =1C

lockable in switched position =1M



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 59/92

35.2

Electrical types of connection:  03pol (2+PE) DIN EN 175301-803, =01 =K42
without mating connector

02pol K40 DT 04-2PA Deutsch, =20V =K40?
without mating connector

02pol C4/Z30 AMP Junior-Timer, =07Y =C4?
without mating connector

") Designation of the individual component solenoid coil
2) Designation of the complete device HSZ range

* 51 Flow control with nozzle "D" Example nozzle M8x1 with 0.6 mm =06
(see page 69)

Fitting possible from 0.4 mm to 4.5 mm

Important:

We recommend selecting a nozzle diameter >= 0.6 mm

For the connection to AC voltage mains, a DC solenoid must be used, which is controlled via a rectifier.
In case of individual connection, a mating connector with integrated rectifier can be used (separate order).



60/92 Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Rapid motion - creep speed function, normally closed (blocking on one side) — discharge
control (1) = component side, (2) = plate side)

Flow control cartridge valve

PlateLxWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
21.2 26.1 35.1 35.2
Sandwich plate HSZ 10 A400-4X/FRM [ ]-A05 [ ][ ][__]moo0 170 x 70 X 80 R901248406
Fitting of the sandwich plate: ® | 7.3 kg
35.1 Valve on
SITZVENTIL 0OD.15.05.89. [ |S0.000 B side F
B2 264 g\% B RESOOOS'OS
SPULE 0D.02.17. 30. .000 28155
[ Jso[ ] 7Ly 19 M
A Al Valve on
2-way flow 21.2 ide E
lvalve: 2FRM 6 K2-1X/[__] RV s
contro : TALP A @ m®
26.1 35.1 35.2
Sandwich plate HSZ 10 A400-4X/FGM1 -A05 [ |[ ][ |Mo00 170 x 70 x 80 R901248406
Fitting of the sandwich plate: ® | 6.6 kg
35.1
SITZVENTIL OD.15.05.89. [ |S0.000 B
35.2 26.1 )}( B RE 90005-03
SPULE 0D.02.17.] _|30.[ ].000 AT D <}> MW\
A A
Throttle valve: FGM 6 K2-1X/1QV
1Al P A @y T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A400-4X/D [ |-A05 [ ][ |[_Im00 170 x 70 x 80 R901248406
Fitting of the sandwich plate: 0) | 6.5 kg
35.1
SITZVENTIL 0D.15.05.89. [ ]S0.000
35.2 26.1 B RE )
SPULE 0D.02.17.[ __]30.[_].000 ) ( 90005-03
. a7y [T MAb
Nozzle[ | M8x1-DIN906 Al
RN115.06
Material no. see page 90 TA| P A D 18

Order examples, see page 77



RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

Rapid motion - creep speed function, normally closed (blocking on one side) — discharge
control (1) = component side, (2) = plate side)

Flow control cartridge valve

Plate LxWxH | pimensional
Type designation Weight sheet
Device . Size of and more
designation Material no. Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10 A401-4X/FRM -A05 [ |[ |[ |Mo00 170 x 70 x 80 R901267133
Fitting of the sandwich plate: [ ® 7.3 kg
35.1 Valve on
SITZVENTIL OD.15.05.89. [_]S0.000 . B side E
35.2 26.1 ‘ € M\ b X RE 90005-03
SPULE 0D.02.17.[__]30.[_].000 al/ Pl v i K RE 28155
A Valve on
2-way flow 212 side F
control valve: 2FRM6K2-1X/[__J RV | fnlp| ———x @s 18
26.1 35.1 35.2
Sandwich plate HSZ 10 A401-4X/FGM1 -A05 [ ][ |[_ |Mo00 170 x 70 x 80 R901267133
Fitting of the sandwich plate: [ @ 6.6 kg
35.1
SITZVENTIL OD.15.05.89. [ |S0.000 B B
352 264 A7 e /b RE 90005-03
SPULE 0D.02.17.__]30.[__].000 A
A
Throttle valve: FGM 6 K2-1X/1QV L — @B 18
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A401-4X/D[_|-A05 [__][__|[__]Mo00 170 x 70 x 80 R901267133
Fitting of the sandwich plate: [ ® 6.5 kg
35.1
SITZVENTIL 0OD.15.05.89. [ |S0.000
B
.2 261 ) RE 90005-03
SPULE 0D.02.17.[__]30.[_].000 Nya SRaATY )\
51 A
Nozzle| _ |M8x1-DIN906
RN115.06
Material no. see page 90 TA| P A @s 1B

Order examples, see page 77

61/92



62/92  Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Rapid motion - creep speed function, normally closed (blocking on one side) — discharge
control (1) = component side, (2) = plate side)

Flow control cartridge valve

Plate L xWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
21.2 26.1 35.1 35.2
Sandwich plate HSZ 10 A402-4X/FRM[__]-A05 [_][__|[__|mo00 180 x 70 x 80 R901248405
Fitting of the sandwich plate: ©) | 7.6 kg
35.1 Valve on
SITZVENTIL OD.15.05.89. [ ]S0.000 side F
RE 90005-03
35.2 26.1 A
SPULE 0D.02.17.[_]30.[_].000 A Wb RE 28155
alp 1% AN« Valve on
2-way flow 212 side E
control valve:  2FRM 6 K2-1X/[__] RV B B
TA| P A @y 18
26.1 35.1 35.2
Sandwich plate HSZ 10 A402-4X/FGM1 -A05 [ |[__|[__|Mo00 180 x 70 x 80 R901248405
Fitting of the sandwich plate: ® | 6.6 kg
35.1
SITZVENTIL OD.15.05.89. [ |S0.000
52 264 R . RE 90005-03
SPULE 0D.02.17.[_|30.[__].000
[ Jeo.[ ] al [\ p] S Wb )I(
Throttle valve: FGM 6 K2-1X/1QV B
B
TAl P A @g 8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A402-4X/D[_]-A05 [ |[ ][ Mmoo 180x70x 80 | R901248405
Fitting of the sandwich plate: 0) | 6.5 kg
35.1
SITZVENTIL OD.15.05.89. [ |S0.000
35.2 26.1
SPULE 0D.0217.]_]30.[_].000 A RE 90005-03
51 EIANI = MAb
Nozzle [ |M8x1-DIN906 o |(
. B RN115.06
Material no. see page 90
TAl P Al @g 18

Order examples, see page 77



RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

Rapid motion - creep speed function, normally closed (blocking on both sides) — discharge
control (1) = component side, (2) = plate side)

Flow control cartridge valve

M Dimensional
Type designation Weight sheet
Device Material no Size of and more
designation aterial no. Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10 A400-4X/FGM1 -B05 [ ][ |[ |M00 170 x 70 x 80 R901248406
Fitting of the sandwich plate: ® | 7.3 kg
35.1 Valve on
SITZVENTIL OD.15.31.89. [ |S0.000 B side F
252 26.1 B RE 90005-03
SPULE 0D.02.17.[_]30.[ _].000 X 7D 1% RE 28155
A @ A? Wb Valve on
Throttle valve: FGM 6 K2-1X/1QV side E
TAL P A @g T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A400-4X/D[__]-B05 [ ][ ][ |Mo00 170 x 70 x 80 R901248406
Fitting of the sandwich plate: ® | 6.5 kg
35.1
SITZVENTIL 0OD.15.31.89. [__]S0.000
35.2 26.1
SPULE 0D.02.17.[_]30.[_].000 )( S RE 90005-03
51 al/ » o MW\b
Nozzle [ |M8x1-DIN906 Al
RN115.06
Material no. see page 90 TA| P A D B
26.1 35.1 35.2
Sandwich plate HSZ 10 A401-4X/FGM1 -B05 [ |[ ][ |mo0 170x70x 80 | R901248406
Fitting of the sandwich plate: [ ® 7.3 kg
35.1 Valve on
SITZVENTIL 0OD.15.31.89. [ ]S0.000 B B side E
25.2 26.1 Y RE 90005-03
SPULE 0D.02.17.__]30.[__].000 al/ Pl v . W\b )l(
A Valve on
Throttle valve: FGM 6 K2-1X/1QV side F
TAL P A @8 T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A401-4X/D[__]-B05 [ |[ ][ |Mo00 170 x 70 x 80 R901248406
Fitting of the sandwich plate: [ @ 6.5 kg
35.1
SITZVENTIL 0D.15.31.89. [ |S0.000
B
35.2 26.1 i
SPULE 0D.02.17.[_]30.]_1.000 e s W |( RE 90005-03
51 A
Nozzle[ _ |M8x1-DIN906
RN115.06
Material no. see page 90 TA| P A @s 8B

Order examples, see page 77

63/92



64/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Rapid motion - creep speed function, normally open (blocking on one side) — discharge
control (1) = component side, (2) = plate side)

Flow control cartridge valve

PlateLxWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
21.2 26.1 35.1 35.2
Sandwich plate HSZ 10 A400-4X/FRM [__|-A06 [ |[ |[ |Mo00 170 x 70 X 80 R901248406
Fitting of the sandwich plate: ® | 7.3 kg
35.1 Valve on
SITZVENTIL OD.15.06.89. [ |S0.000 B side F
B2 261 g\% B RESOOOS'OS
SPULE 0D.02.17. 30. .000 28155
[ Jso[ ] Ry ska FANT
A A Valve on
2-way flow 21.2 ide E
lvalve: 2FRM 6 K2-1X/[__] RV s
contro : 1Al P A @ m®
26.1 35.1 35.2
Sandwich plate HSZ 10 A400-4X/FGM1 -A06 [ |[ |[_ |Mo00 170 x 70 x 80 R901248406
Fitting of the sandwich plate: ® | 6.6 kg
35.1
SITZVENTIL OD.15.06.89. [ |S0.000 B
35.2 26.1 )}( B RE 90005-03
SPULE 0D.02.17.[_]30.[__1.000 IS ¢ Wi
A A
Throttle valve: FGM 6 K2-1X/1QV
1Al P A @ g T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A400-4X/D[__|-A06 [ ][ |[__]M0O 170 x 70 x 80 R901248406
Fitting of the sandwich plate: 0) | 6.5 kg
35.1
SITZVENTIL 0OD.15.06.89. [ ]S0.000
35.2 26.1 B RE )
SPULE 0D.02.17.[ __]30.[_].000 ) ( 90005-03
51 al/ » ¢ W\ b
Nozzle [ |M8x1-DIN906 A
RN115.06
Material no. see page 90 TA| P A Dy 18

Order examples, see page 77



RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

Rapid motion - creep speed function, normally open (blocking on one side) — discharge
control (1) = component side, (2) = plate side)

Flow control cartridge valve

Plate L x WxH | pimensional
Type designation Weight sheet
Device . Size of and more
designation Material no. Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10 A401-4X/FRM -A06 [ |[ |[ |Mo00 170 x 70 x 80 R901267133
Fitting of the sandwich plate: [ ® 7.3 kg
Valve on
35.1 .
SITZVENTIL OD.15.06.89. [ ]S0.000 B B side E
52 261 ¢ [ R RE 90005-03
SPULE 0D.02.17.__]30.[__].000 al/ ; MAb >§ RE 28155
Val
2-way flow 21.2 A a (\j/e [c__m
lvalve: 2FRM 6 K2-1X/[ ] RV side
control valve: 1Al P —Al @ B B
26.1 35.1 35.2
Sandwich plate HSZ 10 A401-4X/FGM1 -A06 [ |[ ][ |Mo00 170 x 70 x 80 R901267133
Fitting of the sandwich plate: [ ® 6.6 kg
35.1
SITZVENTIL OD.15.06.89. [ |S0.000 B B
52 264 ¢ ) RE 90005-03
SPULE 0D.02.17.]_ ]30.[_].000 1WA = K Wb )l(
A
Throttle valve: FGM 6 K2-1X/1QV
rottie vav 1Al P A @8 T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A401-4X/D |:|-A06 |:| |:| DMOO 170 x 70 x 80 R901267133
Fitting of the sandwich plate: 6.5 k
g P 35.1 —I @ 9
SITZVENTIL 0OD.15.06.89. [ |S0.000
B 0 % RE 90005-03
SPULE 0D.0217.]_]30.[_].000 5213 e \
51 A
Nozzle| _ |M8x1-DIN906
RN115.06
Material no. see page 90 TA| P A @s 1B

Order examples, see page 77

65/92



66/92 Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Rapid motion - creep speed function, normally open (blocking on one side) — discharge
control (1) = component side, (2) = plate side)

Flow control cartridge valve

PlateLxWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
21.2 26.1 35.1 35.2
Sandwich plate HSZ 10 A402-4X/FRM[__|-A06 [ ][ ][ Imo0 180 x 70 x 80 R901248405
Fitting of the sandwich plate: ©) | 7.6 kg
35.1 Valve on
SITZVENTIL OD.15.06.89. [ _S0.000 side F
RE 90005-03
= e A Al RE 28155
SPULE 0D.02.17.[_]30.[__].000
al A ] ¢ Wb gx < Valve on
2-way flow 212 side E
control valve:  2FRM 6 K2-1X/[__] RV B B
TA P A @g 18
26.1 35.1 35.2
Sandwich plate HSZ 10 A402-4X/FGM1 -A06 [ |[__][__|m00 180 x 70 x 80 R901248405
Fitting of the sandwich plate: ® | 6.6 kg
35.1
SITZVENTIL OD.15.06.89. [ ]S0.000
52 264 R . RE 90005-03
SPULE 0D.02.17.[_|30.[__].000
[ 130.[ ] o[ ¢ Wb )l(
Throttle valve: FGM 6 K2-1X/1QV B
B
1AL P A @g 18
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A402-4X/D[__]-A06 [ |[ ][ |Mo00 180x70x 80 | R901248405
Fitting of the sandwich plate: 0) [ 6.5 kg
35.1
SITZVENTIL OD.15.06.89. [ |S0.000
35.2 26.1
SPULE 0D.0217.]_]30.[__].000 A RE 90005-03
51 TN = MAb
Nozzle [ |M8x1-DIN906 ¢ ) (
. B RN115.06
Material no. see page 90
1AL P Al @ g 18

Order examples, see page 77



RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

Rapid motion - creep speed function, normally open (blocking on both sides) — discharge

control (1) = component side, (2) = plate side)
Flow control cartridge valve
M Dimensional
Type designation Weight sheet
Device Material no Size of and more
designation aterial no. Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10 A400-4X/FGM1 -B06 [ ][ ][ |M00 170 x 70 x 80 R901248406
Fitting of the sandwich plate: ® [ 7.3 kg
35.1 Valve on
SITZVENTIL 0D.15.32.89. [ ]S0.000 B side F
w2 264 B RE 90005-03
: : ‘
SPULE 0D.02.17.[__]30.[ _].000 X 7D % RE 28155
A a — A' Whb Valve on
Throttle valve: FGM 6 K2-1X/1QV side E
TAl P A @g] T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A400-4X/D[_|-B06 [ ][ |[__|M00 170 x 70 x 80 R901248406
Fitting of the sandwich plate: ® [ 6.5 kg
35.1
SITZVENTIL 0OD.15.32.89. [ ]S0.000
35.2 26.1
SPULE 0D.02.17.[_]30.[_ ].000 )( STk RE 90005-03
51 al/ploly Wb
Nozzle[ _ |M8x1-DIN906 A
RN115.06
Material no. see page 90 TA| P Al @y 8B
26.1 35.1 35.2
Sandwich plate HSZ 10 A401-4X/FGM1 -B06 [ |[ ][ |Mo0 170x70x80 | R901267133
Fitting of the sandwich plate: [ ® 7.3 kg
35.1 Va]ve on
SITZVENTIL 0OD.15.32.89. [ |S0.000 B B side E
w2 261 ST h RE 90005-03
SPULE 0D.02.17.[_]30.[__].000 al/ PO ; Wb )l(
A Valve on
Throttle valve: FGM 6 K2-1X/1QV side F
T P A @s B
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A401-4X/D[__]-B06 [ |[ ][ |Mo00 170x70x80 | R901267133
Fitting of the sandwich plate: [ @ 6.5 kg
35.1
SITZVENTIL 0OD.15.32.89. [ |S0.000
B
35.2 26.1 \ i
SPULE 0D.02.17.[_]30.]_ 1.000 e s g W |( RE 90005-03
51 A
Nozzle[ |M8x1-DIN906
RN115.06
Material no. see page 90 TA| P A @8 B

Order examples, see page 77

67/92



68/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Rapid motion - creep speed function, normally closed (blocking on one side) — supply
control (1) = component side, (2) = plate side)

Flow control cartridge valve

Plate L xWxH | pimensional
Type designation Weight sheet
Device . Size of and more
designation Material no. Symbol the ports information
21.2 26.1 35.1 35.2
Sandwich plate HSZ 10 A406-4X/FRM [ ]-A05 [ ][__][__]mo0 170 x 70 X 80 R901248403
Fitting of the sandwich plate: ® | 7.3 kg
35.1 Valve on
SITZVENTIL 0OD.15.05.89. [ |S0.000 A side F
352 26.1 Je A RE 90005-03
SPULE 0D.02.17.[_]30.[_].000 Vs a[\ P O Mo RE 28155
B B Valve on
2-way flow 212 side E
control valve:  2FRM 6 K2-1X/[__| RV | [,/ p EOY —"
26.1 35.1 35.2
Sandwich plate HSZ 10 A406-4X/FGM1 -A05 [ |[__|][__|Mo00 170 x 70 x 80 R901248403
Fitting of the sandwich plate: ® | 7.3 kg
35.1
SITZVENTIL OD.15.05.89. [ |S0.000 A
352 261 A RE 90005-03
SPULE 0D.02.17.[__]30.[__1.000 X DTS Wb
B BJ
Throttle valve: FGM 6 K2-1X/1QV
1Al P A @ T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A406-4X/D[__|-A05 [ ][ |[ |mo0 170x 70 x80 | R901248403
Fitting of the sandwich plate: ® | 7.3 kg
35.1
SITZVENTIL 0OD.15.05.89. [ |S0.000
.2 261 A RE 90005-03
SPULE 0D.02.17.[_]30.[__].000 )( TN Mb
51 9
Nozzle [ |M8x1-DIN906 B]
RN115.06
Material no. see page 90 TA P A Dy 18

Order examples, see page 77



RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

Rapid motion - creep speed function, normally closed (blocking on one side) — supply
control (1) = component side, (2) = plate side)

Flow control cartridge valve

Plate LxWxH | pimensional
Type designation Weight sheet
Device Material n Size of and more
designation aterial no. Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10 A407-4X/FRM -A05 [ |[|[ |Mo00 170 x 70 x 80 R901276486
Fitting of the sandwich plate: [ ® 7.3 kg
35.1 Valve on
SITZVENTIL 0OD.15.05.89. [ |S0.000 A A side E
35.2 26.1 a(\ p| 4 < MAb RE 90005-03
SPULE 0D.02.17._]30.[__].000 - b <§ RE 28155
B Valve on
2-way flow 212 side F
control valve:  2FRM 6 K2:1X/[__JRV | |l ol —— @35 .
26.1 35.1 35.2
Sandwich plate HSZ 10 A407-4X/FGM1 -A05 [ ][ |[_|mo0 170 x 70 x 80 R901276486
Fitting of the sandwich plate: [ @ 6.6 kg
35.1
SITZVENTIL OD.15.05.89. [ ]S0.000 A A
52 264 al\ p < M b RE 90005-03
SPULE 0D.02.17.[_]30.[ ].000 5
B
Throttle valve: FGM 6 K2-1X/1QV
rottie vave TAL P A @8 T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A407-4X/D[__]-A05 [__|[ ][ __Imo00 170 x 70 x 80 R901276486
Fitting of the sandwich plate: [ ® 6.5 kg
35.1
SITZVENTIL 0OD.15.05.89. [ |S0.000
A
362 26 a[\ P[] & b RE 90005-03
SPULE 0D.02.17.[__]30.[ ].000 | S W ) (
51 B
Nozzle [ |M8x1-DIN906
RN115.06
Material no. see page 90 TA P A @s 18

Order examples, see page 77

69/92



70/92  Bosch Rexroth AG | Hydraulics HSZ 10 | RE 48052/01.11

Rapid motion - creep speed function, normally closed (blocking on one side) — supply
control (1) = component side, (2) = plate side)
Flow control cartridge valve

Plate LxWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
21.2 26.1 35.1 35.2
Sandwich plate HSZ 10 A408-4X/FRM [__|-A05 [ ][ ][ |mo0 180 x 70 x 80 R901232101
Fitting of the sandwich plate: ® | 7.3 kg
35.1 Valve on
SITZVENTIL OD.15.05.89. [_]S0.000 sids F
RE 90005-03
35.2 26.1 B
SPULE 0D.02.17.[__]30.[__].000 B \ RE 28155
O Valve on
2-way flow 21.2 al/ WAb [P side E
control valve:  2FRM 6 K2-1X/[__| RV A A
TAL P A @g 8
26.1 35.1 35.2
Sandwich plate HSZ 10 A408-4X/FGM1 -A05 [ ][ |[_|Mo00 180 x 70 X 80 R901232101
Fitting of the sandwich plate: ® | 6.6 kg
35.1
SITZVENTIL 0OD.15.05.89. [ ]S0.000
35.2 26.1 RE 90005-03
SPULE 0D.02.17.[_]30.[_].000 B B
7> O
Throttle valve: FGM 6 K2-1X/1QV @ A Web
A
Tl P A @g 18
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A408-4X/D[_]-A05 [ [[ | Imo00 180 x 70 x 80 R901232101
Fitting of the sandwich plate: 0) | 6.5 kg
35.1
SITZVENTIL OD.15.05.89. [ |S0.000
35.2 26.1
SPULE 0D.02.17.[__]30.[__].000 : RE 90005-03
51 {}
Nozzle [ |M8x1-DIN906 a7/ P> Wb |
. A RN115.06
Material no. see page 90
Tl P A @y 18

Order examples, see page 77



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG ~ 71/92

Rapid motion - creep speed function, normally closed (blocking on one side) — supply
control (1) = component side, (2) = plate side)
Flow control cartridge valve

PlateLxWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
21.2 26.1 35.1 35.2
Sandwich plate HSZ 10 B408-4X/FRM [__]-A05 [ _][__|[__|Mo00 170 x 70 x 80 R901217086
Fitting of the sandwich plate: | @ [ 6.7 kg
Valve on
35.1 .
SITZVENTIL OD.15.05.89. [ ]S0.000 side F
RE 90005-03
SPULE 0D.02.17 ﬁso %D1 000 B B RE 28155
.02.17. L \
€ Valve on
2-way flow 21.2 al/ Wb [P side E
control valve:  2FRM 6 K2-1X/[__] RV A A
1Al PX A Qg Y /T8
26.1 35.1 35.2
Sandwich plate HSZ 10 B408-4X/FGM1 -A05 [ ][ |[ |Mo00 170x70x 80 | R901217086
Fitting of the sandwich plate: | @ [ 6.7 kg
35.1
SITZVENTIL OD.15.05.89. [ |S0.000
35.2 26.1 B RE 90005-03
SPULE 0D.02.17.[_]30.[ _].000 B
Nva S RAKA )‘(
Throttle valve: FGM 6 K2-1X/1QV A A
1Al P[X A Qg Y!T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 B408-4X/D [_]-A05 [ |[ ][ |M00 170x70x 80 | R901217086
Fitting of the sandwich plate: | [0) [ 6.5 kg
35.1
SITZVENTIL 0OD.15.05.89. [ |S0.000
35.2 26.1
SPULE 0D.02.17.[__]30.[__].000 ; RE 90005-03
51 {
Nozzle[  |M8x1-DIN906 NVAS MA b ) (
. A RN115.06
Material no. see page 90
1Al P[X A @y Y!TB

Order examples, see page 77



72/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Rapid motion - creep speed function, normally closed (blocking on both sides) — supply

control (1) = component side,
Flow control cartridge valve

(2) = plate side)

PlateLxWxH | pimensional
Type designation Weight sheet
Device . Size of and more
designation Material no. Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10 A406-4X/FGM1 -B05 [ |[ |[ |M00 170 x 70 x 80 R901243712
Fitting of the sandwich plate: ® | 6.6 kg
35.1 Valve on
SITZVENTIL OD.15.31.89. [ |S0.000 A A side F
352 261 a[\ b O Wb RE 90005-03
SPULE 0D.02.17.[__]30.[_].000 BO RE 28155
B Valve on
Throttle valve: FGM 6 K2-1X/1QV side E
A P A @y 8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A406-4X/D[__|-B05 [ ][ |[_|M00 170 x 70 x 80 R901243712
Fitting of the sandwich plate: ® | 6.5 kg
35.1
SITZVENTIL 0OD.15.31.89. [ ]S0.000
2 21 alXp Q} b RE 90005-03
SPULE 0D.02.17.[_|30.[_].000 ) ( D4
51 B
Nozzle[  |M8x1-DIN906
RN115.06
Material no. see page 90 TA| P A Dy T8
26.1 35.1 35.2
Sandwich plate HSZ 10 A407-4X/FGM1 -B05 [ |[ ][ |Mo00 170 x70x 80 | R901276486
Fitting of the sandwich plate: [ ® 7.3 kg
35.1 Valve on
SITZVENTIL OD.15.31.89. [ |S0.000 A A side E
352  26.1 a[\ P M RE 90005-03
SPULE 0D.02.17.[_]30.[_].000 5
B Valve on
Throttle valve: FGM 6 K2-1X/1QV side F
1Al P A @8 18
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A407-4X/D[__|-B05 [_|[ |[ |mo00 170x70x80 | R901276486
Fitting of the sandwich plate: [ ® 6.5 kg
35.1
SITZVENTIL 0OD.15.31.89. [ |S0.000
A
35.2 26.1 i
SPULE 0D.02.17.[_]30.[ 1.000 aA P Wb | RE 90005-03
51 B
Nozzle[  |M8x1-DIN906
RN115.06
Material no. see page 90 TA| P A @8 T8

Order examples, see page 77



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 73/92
Rapid motion - creep speed function, normally open (blocking on one side) — supply
control (1) = component side, (2) = plate side)
Flow control cartridge valve
Plate L x WxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
21.2 26.1 35.1 35.2
Sandwich plate HSZ 10 A406-4X/FRM [ ]-A06 [ ][__][__Imo0 170 x 70 x 80 R901248403
Fitting of the sandwich plate: ® [ 7.3 kg
35.1 Valve on
SITZVENTIL OD.15.06.89. [ ]S0.000 A side F
w2 261 A RE 90005-03
SPULE 0D.02.17.__]30.[__].000 }<§ a[\ ] ¢ : /b RE 28155
2-way flow 21.2 B B V;ti/: I(E)n
control valve:  2FRM 6 K2-1X/[__| RV | [ AROY —
26.1 35.1 35.2
Sandwich plate HSZ 10 A406-4X/FGM1 -A06 [ ][__|[__|Mo00 170 x 70 x 80 R901248403
Fitting of the sandwich plate: ® [ 7.3 kg
35.1
SITZVENTIL OD.15.06.89. [ |S0.000 B
35.2 26.1 A RE 90005-03
SPULE 0D.02.17._]30.[__1.000 al\ B ¢ Wb
A B
Throttle valve: FGM 6 K2-1X/1QV
TAL P A @g T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A406-4X/D[__|-A06 [ ][ | |mo0 170x70x 80 | R901248403
Fitting of the sandwich plate: ® I 7.3 kg
35.1
SITZVENTIL OD.15.06.89. [ |S0.000
35.2 26.1 A )
SPULE 0D.02.17.[__]30.[ ].000 ) ( aXp ¢ Wb RE 90005-03
51 i
Nozzle[ _ |M8x1-DIN906 B
RN115.06
Material no. see page 90 TA| P A Dy B

Order examples, see page 77



74/92

Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Rapid motion - creep speed function, normally open (blocking on one side) — supply

control (1) = component side, (2) = plate side)
Flow control cartridge valve
PlateLxWxH | pimensional
Type designation Weight sheet
Device . Size of and more
designation Material no. Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10 A407-4X/FRM -A06 [ ][ |[ |mo0 170x70x 80 | R901276486
Fitting of the sandwich plate: [ ® 7.3 kg
35.1 Valve on
SITZVENTIL OD.15.06.89. [ |S0.000 A A side E
252 264 a[\ p] ¢ M b Je RE 90005-03
SPULE 0D.02.17.[_]30.[__].000 5 75 RE 28155
B Valve on
2-way flow 21.2 side F
control valve:  2FRM 6 K2-1X/[__|RV | lpl )| ———& @3 18
26.1 35.1 35.2
Sandwich plate HSZ 10 A407-4X/FGM1 -A06 [ |[ |[|mo00 170 x 70 x 80 R901276486
Fitting of the sandwich plate: | ® 7.3 kg
35.1
SITZVENTIL OD.15.06.89. [ |S0.000 A A
32 264 alA P ¢ /M*b RE 90005-03
SPULE 0D.02.17.] _|30.[ ].000 3
B
Throttle valve: FGM 6 K2-1X/1QV
1Al P A @8 8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A407-4X/D [ ]-A06 [__|[_][__[mo0 170 x 70 x 80 R901276486
Fitting of the sandwich plate: | 0) 6.5 kg
35.1
SITZVENTIL OD.15.06.89. [ |S0.000
A
35.2 26.1 )
SPULE 0D.02.17.[__]30.[__].000 A b ¢ Wb )\( RE 90005-03
51 B
Nozzle[ _|M8x1-DIN906
RN115.06
Material no. see page 90 TA| P A @8 T8

Order examples, see page 77



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 75/92
Rapid motion - creep speed function, normally open (blocking on one side) — supply
control (1) = component side, (2) = plate side)
Flow control cartridge valve
Plate L x WxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
21.2 26.1 35.1 35.2
Sandwich plate HSZ 10 A408-4X/FRM [__|-A06 [ ][ ][ |mo0 170 x 70 x 80 R901232101
Fitting of the sandwich plate: ® [ 6.75 kg
35.1 Valve on
SITZVENTIL OD.15.06.89. [_]S0.000 side F
RE 90005-03
35.2 26.1 B
SPULE 0D.02.17.[__]30.[__].000 B“ \ RE 28155
Valve on
2-way flow 21.2 al/p ¢ 1 MAb [ <§ side E
control valve:  2FRM 6 K2-1X/[__] RV A A
1Al P A @y T8
26.1 35.1 35.2
Sandwich plate HSZ 10 A408-4X/FGM1 -A06 [ |[ ][ Moo 170 x 70 x 80 R901232101
Fitting of the sandwich plate: @ [ 6.75 kg
35.1
SITZVENTIL 0OD.15.06.89. [ |S0.000
35.2 26.1 RE 90005-03
SPULE 0D.02.17.[__]30.[ ].000 B“ B
ol o [
Throttle valve: FGM 6 K2-1X/1QV a A Wob
A
Tl P A @g T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A408-4X/D [ ]-A06 [ [[ ][ |Mo00 170 x 70 x 80 R901232101
Fitting of the sandwich plate: 0) | 7.2Kkg
35.1
SITZVENTIL OD.15.06.89. [ ]S0.000
35.2 26.1
SPULE 0D.02.17. [__]30.[__].000 ; RE 90005-03
51
Nozzle [ |M8x1-DIN906 Nya~ ¢ Wb |
. A RN115.06
Material no. see page 90
AL P A @g T8

Order examples, see page 77



76/92  Bosch Rexroth AG | Hydraulics HSZ 10 | RE 48052/01.11

Rapid motion - creep speed function, normally open (blocking on one side) — supply
control (1) = component side, (2) = plate side)
Flow control cartridge valve

PlateLxWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
21.2 26.1 35.1 35.2
Sandwich plate HSZ 10 B408-4X/FRM [__]-A06 [ _][__|[__|Mo00 170 x 70 x 80 R901217086
Fitting of the sandwich plate: | ® | 6.7 kg
35.1 Valve on
SITZVENTIL OD.15.06.89. [ ]S0.000 side F
RE 90005-03
35.2 26.1 B
SPULE 0D.02.17.[_]30.[_].000 B RE 28155
X Valve on
2-way flow 21.2 al/» ¢ v Wi [P side E
control valve:  2FRM 6 K2-1X/[__] RV A A
1Al P|X A Qg Y /T8
26.1 35.1 35.2
Sandwich plate HSZ 10 B408-4X/FGM1 -A06 [ |[ ][ |Mo00 170x 70 x80 | R901217086
Fitting of the sandwich plate: | ® | 6.7 kg
35.1
SITZVENTIL OD.15.06.89. [ |S0.000
35.2 26.1 B RE 90005-03
SPULE 0D.02.17.[_]30.[__].000 B‘
s 21 Thone L
Throttle valve: FGM 6 K2-1X/1QV @ A Whb f
1Al PX A @g Y!TB
51 26.1 35.1 35.2
Sandwich plate HSZ 10 B408-4X/D [ ]-A06 [ |[ |[ IMo00 170x70x80 | R901217086
Fitting of the sandwich plate: | ® | 6.5 kg
35.1
SITZVENTIL OD.15.06.89. [ |S0.000
35.2 26.1
SPULE 0D.02.17.[__]30.[__].000 : RE 90005-03
51
Nozzle[ |M8x1-DIN906 alZ P ¢ v WAb ) (
A RN115.06
Material no. see page 90
1Al PX A @y Y/TB

Order examples, see page 77



RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 77/92
Rapid motion - creep speed function, normally open (blocking on both sides) — supply
control (1) = component side, (2) = plate side)
Flow control cartridge valve
PlateLxWxH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ) Symbol the ports information
26.1 35.1 35.2
Sandwich plate HSZ 10 A406-4X/FGM1 -B06 [ |[ |[ |M00 170 x 70 x 80 R901248404
Fitting of the sandwich plate: ® | 7.3 kg
35.1 Valve on
SITZVENTIL OD.15.32.89. [ |S0.000 A A side F
352 261 alA DT O ¥ Wb RE 90005-03
SPULE 0D.02.17.__]30.[__].000 o . RE 28155
B Valve on
Throttle valve: FGM 6 K2-1X/1QV side E
P A @g] T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A406-4X/D [ ]-B06 [ |[ ][ |Mo00 170x70x 80 | R901248404
Fitting of the sandwich plate: ® [ 7.3 kg
35.1
SITZVENTIL OD.15.32.89. [ ]S0.000
352 261 a[X [ <O Ax AMb RE 90005-03
SPULE 0D.02.17.[__]30.[ ].000 ) ( &y
51 B
Nozzle [ |M8x1-DIN906
RN115.06
Material no. see page 90 TA P Al @y B
26.1 35.1 35.2
Sandwich plate HSZ 10 A407-4X/FGM1 -B06 [ |[ ][ |Mo00 170x70x 80 | R901276486
Fitting of the sandwich plate: [ ® 7.3 kg
35.1 Valve on
SITZVENTIL OD.15.32.89. [ ]S0.000 " A side E
352 261 al\A D[ OT ¥ MW RE 90005-03
SPULE 0D.02.17.[__]30.[_].000 © -
B Valve on
Throttle valve: FGM 6 K2-1X/1QV side F
1Al P A @8 T8
51 26.1 35.1 35.2
Sandwich plate HSZ 10 A407-4X/D[__|-B06 [ ][ |[ |mo0 170x70x80 | R901276486
Fitting of the sandwich plate: [ ® 6.5 kg
35.1
SITZVENTIL 0OD.15.32.89. [ [S0.000
A
35.2 26.1 \ i
SPULE 0D.02.17.[_]30.[_ 1.000 alA B g W' )|( RE 90005-03
51 B
Nozzle [ |M8x1-DIN906
RN115.06
Material no. see page 90 TA| P A @s 8B
Order examples 212 42 43 s 4

4
For complete device with 2/2 directional seat valve and 2-way flow control valve: HSZ 10 A400-1X/

a4
For complete device with 2/2 directional seat valve and throttle valve: HSZ 10 A401-1X/ [FGM] 1-

42 43

[06]-[A][05] G24K4 [M][00]

3 4

[A][05]G24K4[M][00]

41 51 42 43 3 4
For complete device with 2/2 directional seat valve and nozzle: HSZ 10 A401-1X/ [D][10]-[A][05]G24K4[M]



78/92  Bosch Rexroth AG | Hydraulics HSZ 10 | RE 48052/01.11

Rapid motion, electrically switchable (1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H| Dimensional sheet
designation in mm
Weight
Size of More
Material no. the ports information
Sandwich HSZ 10 _ l 0) 240 x 70 x 80 R901248409
plate A;15210 -4X/FGM1-A05 , 8.0 kg
= T3-D08Mo1 AN ! ¢ Wy )( X Nozzle M6 20.8 mm
R901247995 . Side E + F
. B
Fitting of the A ! B G1/4 RE 90005-03
sandwich I1ate: g S
0D.15.05.36.1.58.00 | [G[TAlP Al @ |s it
Sandwich HSZ 10 l 0) 140 x 70 x 70 R901248408
plate A486 4X/DRVP-B05 & 8.7 kg
261 351 352 1oq A :
[ o [ - RE 90005-03
Fitting of the <2<\
sandwich Iate A
B \p| 4| o
OD.15.31. 89|:|8800 B vy | o
] B
2 "
<+
A
mp A @
Sandwich HSZ 10 l @ 140 x 70 x 70 R901248408
plate A486-4X/DRVP-B06 & 8.7 kg
261 35.1 352 paog A :
o oo RE 90005-03
Fitting of the <ﬂ<\ A
sandwich 3;glate B ST
0D.15.31.89.1.S8.00 B o |y
B
ﬁ%
K
A
mlp A @ w

Differential circuit directional valve, electrically switchable (@ = component side, @ = plate side)

Sandwich HSZ 10 @ 220x90x 70 R901279169
plate B410-4X/D10-03BAR- 10.7 kg

26.1 35.1 35.2
Aos 2 B B2 moo —o Nozzle M8x1
R901277608 5 ) 01.0 mm

Fitting of the EYAN + b

sandwich I1ate:
0D.15.04.04.1.S0.00

35.2
0D.02.17.3.30.0C.00

1Al p|X A @s Y18

RE 90005-03




RE 48052/01.11 | HSZ 10

Functional group Miscellaneous

Hydraulics | Bosch Rexroth AG

79/92

Complementary details on sandwich plates with short-circuit valves

31 261 351 352 51

HSZ 10A ...-4X/

(see p. 77 to 86)

B
31
Symbols of the
2/2 directional seat valve: = A05 = A06 = B05 = B06
9T 2 1 T 3 1
—O— O]
26.1
Nominal voltage at the coil Direct voltage 12 V =G12
Direct voltage 24 V =G24
Direct voltage 26 V = G26
Direct voltage 110 V =G110
Direct voltage 220 V = G220
351 Manual override without manual override =A
at directional seat valve series OD.15...  \ith throttle =3A
with flow controller cartridge =3l
Screwable manual override =3M
=3L
=3D
with manual override "pushing” =1B
=1L
with manual override "pushing", =1C
lockable in switched position =1M
352 Ejectrical types of connection: 03pol (2+PE) DIN EN 175301-803, = K4
without mating connector
02pol K40 DT 04-2PA Deutsch, = K40
without mating connector
02pol C4/Z30 AMP Junior-Timer, =C4

without mating connector



80/92  Bosch Rexroth AG | Hydraulics

Functional group Miscellaneous

HSZ 10 | RE 48052/01.11

51

Nozzle fitting with 517, 519, 589
(internal thread M8X1):

Example: 10: Nozzle M8X1 with &1.0 mm fitting from =10
0.4 mm to @4.5 mm possible

Important:

We recommend selecting a nozzle diameter >= 0.6 mm

Ordering code: Mating connectors according to DIN EN 175301-803 and 1SO 4400 for connector "K4"

More mating connec-

tors see RE 08006 —
T
T
Material no.
without circuitry with indicator light with rectifier with indicator light and Zener
Color 12...240V 12...240V diode suppression circuit
24V
Gray R901017010 - - -
Black R901017011 - - -
Black - R901017022 R901017025 R901017026




RE 48052/01.11 | HSZ 10

Short-circuit valves (@ = component side, @ = plate side)

Hydraulics | Bosch Rexroth AG

81/92

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Size of More
Material no. the ports information
Sandwich HSZ 10 T 120 x 70 x 50 R901154348
plate B517-4X/B05 3.4 kg
26.1 35.1 35.2 51 5‘ ]
ot Bt 2 51 100 RE 90005-03
L 1ly o2 M8xt Internal thread
§ M8x1
TA| P|X A @[ 18
Sandwich HSZ 10 T 120 x 70 x 50 R901154348
plate B517-4X/B06 3.4 kg
26.1 35.1 35.2 51 5‘ ]
ot B 2 21 00 RE 90005-03
>0
1 2 Med Internal thread
M8x1
TA| P|X A @[ 18
Sandwich HSZ 10 T 120 x 70 x 50 R901154348
plate A517-4X/B05 3.4 kg
26.1 35.1 35.2 51 5‘ ]
ot Bt 2 21 100 RE 90005-03
1y ol 2| Internal thread
M8x1
TA A @8 T8
Sandwich HSZ 10 T 120 x 70 x 50 R901154348
plate A517-4X/B06 3.4 kg
26.1 35.1 35.2 51 5‘ )
ot 2 22 2 00 RE 90005-03
>0
1 2 Med Internal thread
§ M8x1
TA A @8 T8
Sandwich HSZ 10 o= 105 x 70 x 50 R901154552
plate A519-4X/B05 2.6 kg
26.1 35.1 35.2 51 |1 .
T ,W\g v RE 90005-03
2 Internal thread
Ma8x1 | | M8X1
TA A @B T8
Sandwich HSZ 10 o= 105 x 70 x 50 R901154552
plate A519-4X/B06 2.6 kg
26.1 35.1 35.2 51 1 N
Rt 2 22 200 MA g v RE 90005-03
)
2 Internal thread
s | Mex1
TA A @B T8




82/92

Bosch Rexroth AG | Hydraulics

Short-circuit valves (@ = component side, @ = plate side)

HSZ 10 | RE 48052/01.11

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Size of More
Material no. the ports information
Sandwich HSZ 10 @ — 105 x 70 x 50 R901154552
plate A519-4X/A05 2.6 kg RE 90005-03
26.1 35.1 35.2 51
O O O CIMOO W AT Y €]
Internal thread
M8x1
Mext ||
TA A @8 B
Sandwich HSZ 10 @ — 105 x 70 x 50 R901154552
plate A519-4X/A06 2.6 kg RE 90005-03
26.1 35.1 35.2 51
O O OO Moo M ¢ «/
Internal thread
M8x1
M8x1 ||
TA A @8 8
Sandwich HSZ 10 0) 105 x 70 x 50 R901155030
plate A589-4X/B05 . 2.6 kg RE 90005-03
26.135.1 35.2 51 QO =1
O O O Moo
> Internal thread
2‘ M8x1
I A @8 T8
Sandwich HSZ 10 0) 105 x 70 x 50 R901155030
plate A589-4X/B06 . 2.6 kg RE 90005-03
26.1 35.1 35.2 51 T =
O O O Moo
oo Internal thread
2‘ M8x1
I A @8 T8
Sandwich HSZ 10 @ 105 x 70 x 50 R901155030
plate A589-4X/A05 . 2.6 kg RE 90005-03
26.135.1 35.2 51 T =1
O O O Moo
Internal thread
2‘ M8x1
1A A @8 T8
Sandwich HSZ 10 @ 105 x 70 x 50 R901155030
plate A589-4X/A06 = ot 2.6 kg RE 90005-03
26.1 35.1 35.2 51 N
O O O Moo
—O— Internal thread
2‘ M8x1
1A A @8 T8




RE 48052/01.11 | HSZ 10

Short-circuit valves (@ = component side, @ = plate side)

Hydraulics | Bosch Rexroth AG

83/92

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 @ 100 x 70 x 80 R901028290
plate A587-4X/B05 E 4.0 kg
26.1 35.1 35.2 )
o1 35.135-2 1100 E RE 90005-03
B A
1Al P = Nl —
Sandwich HSZ 10 ® 100 x 70 x 80 R901028290
plate A587-4X/B06 ,5 4.0 kg
26.1 35.1 35.2 )
o1 351352 1100 E o RE 90005-03
o2
B _]A
1Al P = Nl —
Sandwich HSZ 10 @ 120 x 70 x 80 R901164210
plate A648-4X/B05 E 5.4 kg
26.1 35.1 35.2 )
o1 35-135-2 1100 ’5 \/ LQC \/ RE 90005-03
’TOC —x 2 (e
1Al P = NEOL —
Sandwich HSZ 10 @ 120 x 70 x 80 R901164210
plate A648-4X/B06 E 5.4 kg
26.1 35.1 35.2 )
o1 351352 1100 ’5 \/ RE 90005-03
\/ R e
2 1N > 6
o2 §
1Al P = Al @1




84/92  Bosch Rexroth AG | Hydraulics

HSZ 10 | RE 48052/01.11

Short-circuit valves for high flow (1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 @ 120 x 70 x 80 R901282212
plate A668-4X/B05
with R ring 26.1 35.1 35.2 ;
plate fo-1135.1352 1100 2 1 RE 90005-03
A @s
Sandwich HSZ 10 120 x 70 x 80 R901282212
plate A668-4X/B06 ®
with R ring 26.1 35.1 35.2 - ;
olate 261351 352 1100 2 1 RE 90005-03
2o
A @8
Sandwich HSZ 10 @ 120 x 70 x 80 R901282212
plate A668-4X/A05
with R ring 26.1 35.1 35.2 o i
plate o 11351352 1100 2 1 RE 90005-03
A @s
Sandwich HSZ 10 @ 2 120 x 70 x 80 R901282212
plate A668-4X/A06
with R ring 26.1 35.1 35.2 - ;
plate 011351352 1100 2 1 RE 90005-03
—O—
A @s




RE 48052/01.11 | HSZ 10

Hydraulics | Bosch Rexroth AG

Short-circuit valves for high flow (1) = component side, (2) = plate side)

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10 (D 120 x 70 x 80 R901282203
plate A667-4X/B05
with R ring 26.1 35.1 35.2 > }
plate O OO = Moo ! RE 90005-03
TAlP A @8 T8
Sandwich HSZ 10 @ 120 x 70 x 80 R901282203
plate A667-4X/B06
with R ring 26.1 35.1 35.2 }
plate O O = M0O ! RE 90005-03
o 2e
TAlP A @8 T8
Sandwich HSZ 10 @ 120 x 70 x 80 R901282203
plate A667-4X/A05
with R ring 26.1 35.1 35.2 Yo }
plate O O = M0O "= RE 90005-03
TAlP A @8 T8
Sandwich HSZ 10 0) 120 x 70 x 80 R901282203
plate A667-4X/A06
with R ring 26.1 35.1 35.2 }
plate O O I Moo ! RE 90005-03
—O—
TAlP A @8 T8

85/92



86/92

Bosch Rexroth AG | Hydraulics

Proportional valves (1) = component side, (2) = plate side)

HSZ 10 | RE 48052/01.11

Device Type designation Symbol Platte L x W x H | Dimensional sheet
designation in mm
Weight
Material no. Size of More
the ports information
Sandwich HSZ 10- | @ 472 x 70 x 120 R901019734
plate 26908-AA/ : 10.5 kg
G24K4M00 §J B RE 28163
9] ) RE 29188
> <: RE 90005-03
R901014628 A
s
SN
Al
m ol A @ 18
Sandwich HSZ 10- [©) 225 x 95 x 90 R901002270
plate 26896-ZA/HMO0 13.9 kg
)|( 208 =
R901004474 w | )|eos
o= 2]
Unfitted, fitting 7S [ = I
on request I
TALA Pl @ [ B
Sandwich HSZ 10 @ 160 x 70 x 100 R901013511
plate B470-3X/2- ‘ =7 8.2 kg
315XYU-PG24K4- - P T
08M01 = RE 25818
SideE+F RD 18139-04
G1/4
R901011922 Y
X | =
= A_| B o
= ]
< e
1Al P| X —A @p y[18[
Sandwich HSZ 10 [ ® 140 x 70 x 220 R900706722
plate A441-3x/05M01 | [iA 15.6 kg
P o RE 20380
R900703578 g < Side E RE 29286
Fitting: © G1/4

additional fitting
upon request
Comment:
Lateral connection
diagram 3DREE 10




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 87/92

Functional group Clamping hydraulics

46 47 47.2 48 49 50 51 2 3
Example: HSZ 10 A 433 — 3X/PRFB - - K1
46
Adjustment element at the Setscrew with internal hexagon =L
3-way pressure control valve Hand wheel =K
Adjustment protection, set in the factory =C
47
Set pressure at the 50 to 210 bar - Setting 49 bar =
3-way pressure control valve: 20 to 105 bar — Setting 14 bar =B
14 to 55 bar — Setting 14 bar =
7 to 28 bar — Setting 14 bar =
3.5to 14 bar — Setting 14 bar =
47.2
Seal material NBR seals =N
A\ Attention! FKM seals =V
Observe compatibility of seals with (other seals upon request)
hydraulic fluid used!
48
Symbol of the 2]
3/2 directional spool valve:
J 1AW P
T
11 13
2]
T\1 f T =U
11 13
49 Direct voltage 12 V =G12
Direct voltage 24 V =G24
Solenoid voltage at the Direct voltage 48 V -G48
directional spool valve: Direct voltage 96 V : G96
Direct voltage 205 V - G205
50
Manual override at the without manual override =NO
3/2 directional spool valve: Concealed manual override =N9
51
Electrical types of connection  03pol (2+PE) DIN EN 175301-803, = K4
without mating connector
02pol K40 DT 04-2PA Deutsch, = K40

without mating connector

02pol C4/Z30 AMP Junior-Timer,

without mating connector =C4



88/92

Bosch Rexroth AG | Hydraulics

Clamping hydraulics (@ = component side, @ = plate side)

HSZ 10 | RE 48052/01.11

Plate L x W xH | pimensional
Type designation Weight sheet
Device Material no Size of and more
designation ’ Symbol the ports information
46 47 47.2 48 49 50 51
Sandwich plate | HSZ 10A 433 - 3X/PRFB -[_|[ ][ |-K1[U] [ [ [mo1 200x 70 x 80 | R901080416
Fitting of the sandwich plate: @ 9.73 kg
2 Side F
Pressure PRFB - see below T\ _ M Valve PRFB
control valve RE G1/4 on side E
3/2 directional 48 35.1 - -1
spool valve KKDER1[UJAH [ ]V | [= i 7y RE 18136-04
) ! Valve
M |§——-' on side F
SPULE GZ37-4 24VDC 22W
Al [P A B @ 1
46 47 47.2 48 49 50 51
Sandwich plate | HSZ 10A 433 —-3X/PRFB -[_|[ |[ |-K1[C[ [ [ |mo1 200x70x 80 | R901080416
Fitting of the sandwich plate: @ 9.73 kg
2 Side F
Pressure PRFB - see below /T - M Valve PRFB
control valve 1 3 G1/4 on side E
3/2 directional 48 35.1 ot -1
spool valve KKDER1[C]AH [V | [= i 7y RE 18136-04
O | Valve
M |§———' on side F
SPULE GZ37-4 24VDC 22W
TAl |p A B @ 1
Order example
For complete device with 3/2 directional seat valve 46 47 47.2 48 49 50 51 2 3

and pressure control valve:

HSZ 10A 433 — 3X/PRFB -[L|[A][N]- K1[U[G24] N9 [K4[M[01]




RE 48052/01.11 | HSZ 10 Hydraulics | Bosch Rexroth AG 89/92
Shuttle valves ((1) = component side, (2) = plate side)
Device Type designation Symbol Platte Dimensional
designation LxWxH sheet
in mm
Weight
Size of More
Material no. the ports | information
Sandwich |HSZ 10 A235-3X/LG6MO01 @ 130 x 70 x 50 | R900265137
plate R900555882 3.3 kg
Eﬂ X
Fitting of the sandwich plate: J 3 Side F
© X
G1/4
Shuttle valve | LG 6 S-2X/ TA A @ 1B
Sandwich |HSZ 10 B235-3X/LG6MO1 @ 130 x 70 x 50 | R900266410
plate R900571975 3.3kg
Eﬂ X Side F
Fitting of the sandwich plate: J s X
© G1/4
Shuttle valve LG 6 S-2X/ TA A @ V.18




Bosch Rexroth AG | Hydraulics

Nozzles

HSZ 10 | RE 48052/01.11

Form 7 (RN 115.06)
Plug screw DIN 906

Important:
Spelling () with
complete type!

50 51 52 53
B M6 M8 x 1 R1/8 R3/8
C 6 8 8 10
A Material no.
0.6 (06) R900157934 R900149430 | R900188667 -
0.7 (07) R900157931 R900143957 | R901082918 -
0.8 (08) R900152276 R900136843 | R900144212 R901187136
0.9 (09) R901192875 R901195589 - -
1.0 (10) R900149335 R900136842 | R900135607 R900159032
1.1 (11) R900645667 R900144763 - -
1.2(12) R900152286 R900139101 R900146270 R900159032
1.3(13) R900152291 R900144762 | R900891295 R900163839
1.4 (14) R901193341 R900158791 R900135606 -
1.5 (15) R900148823 R900133712 | R900144910 R900159031
1.6 (16) R901106248 R900816128 | R900137422 -
1.7 (17) R900164852 R901062795 - -
1.8 (18) R900157932 R900150953 | R900142840 R900159030
1.9 (19) - R900165257 - -
2.0 (20) R900156650 R900137299 | R900155897 R900159029
2.1 (21) - R901247812 - -
2.2 (22) R900152292 R900161379 - R900152475
2.3 (23) - R900871140 - -
2.4 (24) - R900185333 - -
2.5 (25) R900157929 R900137445 | R900148351 R900146259
2.6 (26) R901213522 - R913010492 -
2.7 (27) - R901131052 R901020741 -
2.8 (28) - R900826709 | R901171511 R900149053
2.9 (29) - R901121836 - -
3.0 (30) R900181894 R900144761 R900111282 R900149044
3.1(31) - - R913010491 -
3.2(32) - R900855716 | R900892343 -
3.5 (35) - R900136079 | R900688752 R900146258
4.0 (40) - R900802480 | R900178466 R900149052
4.5 (45) - R900151944 | R900644143 -
5.0 (50) - - R900167529 R900152287
5.5 (55) - - - R900149428
6.0 (60) - - - R900135774
7.0 (70) - - - R900152289
7.1 (71) - - - R900152294
7.5 (75) - - - R900137643
8.0 (80) - - - R900626397
8.8 (88) - - - R900743487




RE 48052/01.11 | HSZ 10

R ring plates, seal kits

Hydraulics | Bosch Rexroth AG

91/92

R ring plate hole type 10A (1.5 high)

R ring plate hole type 10B (with X and X; 1.5 high)

R ring plate Material no. R ring plate Material no.
HSZ 10 A001-3X/M00 R900329776 HSZ 10 B001-3X/M00 R900315950
HSZ 10 A001-3X/V00 R900329777 HSZ 10 B001-3X/V00 R900315951
4 ) ( ) A
M | = W) =
OOl @~ ™ |
\o J A \ / Y

Seal kit - plate: For porting pattern 10A and 10B

Seal material Material no.
NBR R900313194
FKM R900313195




92/92  Bosch Rexroth AG | Hydraulics

Notes

HSZ 10 | RE 48052/01.11

Bosch Rexroth AG

Hydraulics

Zum Eisengiefer 1

97816 Lohr am Main, Germany
Phone +49 (0)9352/18-0

Fax +49 (0) 93 52/ 18-23 58
documentation@boschrexroth.de
www.boschrexroth.de

© This document, as well as the data, specifications and other informa-
tion set forth in it, are the exclusive property of Bosch Rexroth AG. It
may not be reproduced or given to third parties without its consent.

The data specified above only serve to describe the product. No state-
ments concerning a certain condition or suitability for a certain applica-
tion can be derived from our information. The information given does not
release the user from the obligation of own judgment and verification. It
must be remembered that our products are subject to a natural process
of wear and aging.



	Table of contents
	Features
	Safety instructions
	Explanations of the type key for HSZ 10 sandwich plates
	3D view
	Extended applications of HSZ 10 sandwich plates with R ring plate
	Extended applications of HSZ 10 sandwich plates with R ring plate
	Distance plates without port
	Distance plates with connections
	Distance plates with connections and two connection diagrams and external port
	Functional group Blocking function
	Check valves Z1S10
	Check valves M-SR, D8, D9 and D10
	VUCN / VURN... check valves
	Check valves, pilot operated
	Blocking function, electrically switchable, normally open
	Blocking function, electrically switchable
	Functional group Pressure function
	Pressure relief valves, direct operated
	Pressure relief valves, direct operated, electrically switchable
	Pressure reducing valves, direct operated
	Pressure reducing valves, pilot operated
	Pressure sequence valves
	Functional group Combination pressure and blocking function
	Pressure feed function
	Pressure feed function with accumulator connection M42x1.5
	Counterholding function
	Counterholding function with feed-in from channel B to P
	Lowering brake function
	Functional group Flow control function
	Throttle valves
	Throttle check valves
	Flow control valves
	Functional group Rapid motion - creep speed function, normally open and closed
	Rapid motion - creep speed function, normally closed (blocking on one side) – discharge control
	Rapid motion - creep speed function, normally open (blocking on one side) – discharge control
	Rapid motion - creep speed function, normally closed (blocking on one side) – supply control
	Rapid motion - creep speed function, normally open (blocking on one side) – supply control
	Rapid motion, electrically switchable
	Differential circuit directional valve, electrically switchable
	Functional group Miscellaneous
	Ordering code: Mating connectors according to DIN EN 175301-803 and ISO 4400 for connector "K4"
	Short-circuit valves
	Short-circuit valves for high flow
	Proportional valves
	Functional group Clamping hydraulics
	Clamping hydraulics
	Shuttle valves
	Nozzles
	R ring plates, seal kits

